Section 1. Letter of Invitation

Letter No:_____ Date:_____

Name and Address of Consultant

Subject: LETTER OF INVITATION.

Dear Sir/Madam

1. The Secretary Specialized Healthcare and Medical Education Department, Lahore, invites Technical & Financial proposals to provide the following consulting services:

Third Party Evaluation of Procurement, Supply & Consumption of Medicine, Surgical Disposables and Supplies Specialized Healthcare and Medical Education (SHC&ME) Institutions, in Punjab

Details on the services are provided in the Terms of Reference.

- 2. The Consultant will be selected under the selection Method: *LCS* and procedures described in this RFP under fast-track method and in accordance with the policies of the Government of Punjab detailed PPRA Rules, 2014. It is not permissible to transfer this invitation to any other firm.
- 3. The RFP includes the following additional documents:

Section 2 - Instructions to Consultants (including Data Sheet) Section 3 - Technical Proposal - Standard Forms Section 4 - Financial Proposal - Standard Forms Section 5 - Terms of Reference

4. It is mandatory for proposals to be made using the Standard Forms of the RFP. Proposals that are not in the prescribed format may be discarded. If any information required in the form is found missing, or written elsewhere, no credit will be given in the relevant section of the evaluation.

5. Firms should submit details of 05 Completed Projects of their most relevant assignments for technical evaluation using the prescribed format. Assignments submitted beyond the given number will not be considered.

6. CVs of key personnel corresponding to the list given in the Data sheet should provide details of 05 No. projects done by the individual in the past.

This information in two sealed envelops, separately containing Technical and Financial proposals should be sent to the following address, so as to reach latest on **18-04-2016** up to 10.00am:

Name: Mr. Najam Ahmed Shah, Secretary Specialized Healthcare and Medical Education Department, Lahore

Address: Specialized Healthcare and Medical Education department, Civil Secretariat, Lahore

Technical Proposals shall be opened on **18-04-2016** at 10.30 by Committee in the office of (Secretary Specialized Healthcare and Medical Education Department, Lahore) in the presence of bidders. For this purpose you are invited to attend the meeting on above mentioned date, time and venue.

If no acknowledgment is received, it will be presumed that you are not interested in undertaking the assignment.

Yours sincerely,

Section 2: Instructions to Consultants

Definitions

- (a) "Agreement" means the Agreement signed by the Parties and all the attached documents.
- (b) "Client" means the organization with which the selected Consultant signs the Agreement for the Services.
- (c) "Consultant" means any entity or person that may provide or provides the Services to the Client under the Agreement.
- (d) "Data Sheet" means such part of the Instructions to Consultants used to reflect specific conditions.
- (e) "Day" means calendar day.
- (f) "Government" means the Government of the Punjab and all its associated departments, agencies, autonomous/semiautonomous bodies, local governments, boards, universities and similar other organizations.
- (g) "Instructions to Consultants" means the document which provides Consultants with all information needed to prepare their Proposals.
- (h) "LOI" means the Letter of Invitation included in the RFP as

Section 1 being sent by the Client to the interested Consultants.

- "Personnel" means professionals and support staff provided (i) by the Consultant or by any Sub-Consultant and assigned to perform the Services or any part thereof; "Foreign Personnel" means such professionals and support staff who at the time of being so provided had their domicile outside Pakistan; "Local Personnel" means such professionals and support staff who at the time of being so provided had their domicile inside Pakistan.
- "Proposal" means the Technical Proposal and the Financial (j) Proposal.
- (k) "RFP" means the Request for Proposal to be prepared by the Client for the selection of Consultants, based on the Standard RFP.
- "Services" means the work to be performed by the (1)Consultant pursuant to the Agreement.
- (m) "SRFP" means the Standard Request for Proposals, which must be used by the Client as a guide for the preparation of the RFP.
- (n) "Sub-Consultant" means any person or entity with whom the Consultant sub agreements any part of the Services.
- "Terms of Reference" (TOR) means the document included (0)in the RFP as Section 5 which explains the objectives, scope of work, activities, tasks to be performed, respective responsibilities of the Client and the Consultant, and expected results and deliverables of the assignment.
- 1. Introduction 1.1 The Client named in the Data Sheet will select a consulting firm/organization (the Consultant) from those listed in the Letter of Invitation, in accordance with the method of selection specified in the Data Sheet.
 - 1.2 The interested Consultants are invited to submit a Technical Proposal and a Financial Proposal for consulting services required for the assignment named in the Data Sheet. The proposals should be in separate marked and sealed envelopes. The Proposal will be the basis for agreement negotiations and ultimately for a signed Agreement with the selected Consultant.
 - 1.3 Consultants should familiarize themselves with assignment conditions and take them into account in preparing their Proposals. To obtain first-hand information on the assignment, Consultants are encouraged to visit the Client before submitting a proposal and to attend a preproposal conference if one is specified in the Data Sheet.

Attending the pre-proposal conference is optional. Consultants should contact the Client's representative named in the Data Sheet to obtain additional information on the pre-proposal conference. Consultants should ensure these officials are informed well-ahead of time in case they wish to visit the Client.

- 1.4 The Client will timely provide at no cost to the Consultants the inputs and facilities specified in the Data Sheet, assist the firm in obtaining licenses and permits needed to carry out the services, and make available relevant project data and reports.
- Consultants shall bear all costs associated with the 1.5 preparation and submission of their proposals and agreement negotiation. The Client is not bound to accept any proposal, and reserves the right to annul the selection process at any time prior to Agreement award, without thereby incurring any liability to the Consultants.
- **Conflict of** 1.6 Government of Punjab policy requires that Consultants provide professional, objective, and impartial advice and Interest at all times hold the Client's interests paramount, strictly avoid conflicts with other assignments or their own corporate interests and act without any consideration for future work.
 - 1.6.1 Without limitation on the generality of the foregoing, Consultants, and any of their affiliates, shall be considered to have a conflict of interest and shall not be recruited, under any of the circumstances set forth below:
 - (i) A firm that has been engaged by the Client to provide goods, works or services other than consulting services for a project, and any of its affiliates, shall be disqualified from providing consulting services related to those goods, works or services. Conversely, a firm hired to provide consulting services for the preparation or implementation of a project, and any of its affiliates, shall be disqualified from subsequently providing goods or works or services other than consulting services resulting from or directly related to the firm's consulting services for such preparation or implementation. For the purpose of this paragraph, services other than consulting services are defined as those leading to a measurable physical output, for example surveys, exploratory drilling, aerial photography, and satellite imagery. (ii) A Consultant (including its Personnel and Sub-Consultants) or any of its affiliates shall not be hired for any assignment that, by its nature, may be in conflict with another assignment of the
 - Consultant to be executed for the same or for another Client. For example, a Consultant hired to prepare engineering design for an infrastructure project shall not be engaged to prepare an independent environmental assessment for the same project, and a Consultant assisting a Client in the privatization of public assets shall not purchase, nor advise purchasers of, such assets. Similarly, a Consultant hired to prepare Terms of Reference for an assignment should not be hired for the assignment in question.

Conflicting activities

Conflicting assignments

- (iii) A Consultant (including its Personnel and Sub-Consultants) that has a business or family relationship with a member of the Client's staff who is directly or indirectly involved in any part of (i) the preparation of the Terms of Reference of the assignment, (ii) the selection process for such assignment, or (iii) supervision of the Agreement, may not be awarded an Agreement, unless the conflict stemming from this relationship has been resolved in a manner acceptable to the Government of Punjab throughout the selection process and the execution of the Agreement.
- 1.6.2 Consultants have an obligation to disclose any situation of actual or potential conflict that impacts their capacity to serve the best interest of their Client, or that may reasonably be perceived as having this effect. Failure to disclose said situations may lead to the disqualification of the Consultant or the termination of its Agreement.
- No agency or current employees of the Client shall 1.6.3 work as Consultants under their own ministries. departments or agencies. Recruiting former government employees of the Client to work for their former ministries, departments or agencies is acceptable provided no conflict of interest exists. When the Consultant nominates any government employee as Personnel in their technical proposal, such Personnel must have written certification from their government or employer confirming that they are on leave without pay from their official position and allowed to work full-time outside of their previous official position. Such certification shall be provided to the Client by the Consultant as part of his technical proposal.
- Unfair1.6.4If an interested consultant could derive a competitive
advantage from having provided consulting services
related to the assignment in question, the Client shall
make available to all interested Consultants together
with this RFP all information that would in that
respect give such Consultant any competitive
advantage over competing Consultants.
- Fraud and 1.7 The Government of Punjab requires Consultants participating in its projects to adhere to the highest ethical standards, both during the selection process and throughout the execution of an agreement. In pursuance of this policy, the Government of Punjab:
 - (b) defines, for the purpose of this paragraph, the terms set forth below as follows:
 - (i) "corrupt practice" means the offering, giving, receiving, or soliciting, directly or indirectly, of anything of value to influence the action of a public official in the selection process or in

agreement execution;

- (ii) "fraudulent practice" means a misrepresentation or omission of facts in order to influence a selection process or the execution of a agreement;
- (iii) "collusive practices" means a scheme or arrangement between two or more consultants with or without the knowledge of the Client, designed to establish prices at artificial, noncompetitive levels;
- (iv) "coercive practices" means harming or threatening to harm, directly or indirectly, persons or their property to influence their participation in a procurement process, or affect the execution of a agreement.
- (c) will reject a proposal for award if it determines that the Consultant recommended for award has, directly or through an agent, engaged in corrupt, fraudulent, collusive or coercive practices in competing for the agreement in question;
- (d) will sanction a Consultant, including declaring the Consultant ineligible, either indefinitely or for a stated period of time, to be awarded a Government of Punjab agreement if at any time it determines that the Consultant has, directly or through an agent, engaged in corrupt, fraudulent, collusive or coercive practices in competing for, or in executing, a Government of Punjab agreement; and
- (e) will have the right to require that a provision be included requiring Consultants to permit the Government of Punjab to inspect their accounts and records and other documents relating to the submission of proposals and agreement performance, and have them audited by auditors appointed by the Government of Punjab.
- 1.8 Consultants, their Sub-Consultants, and their associates shall not be under a declaration of ineligibility for corrupt and fraudulent practices issued by the Government of Punjab in accordance with the above para. 1.7. Furthermore, the Consultants shall be aware of the provisions on fraud and corruption stated in the specific clauses in the General Conditions of Agreement.
- 1.9 Consultants shall furnish information on commissions and gratuities, if any, paid or to be paid to agents relating to

			this proposal and during execution of the assignment if the Consultant is awarded the Agreement, as requested in the Financial Proposal submission form (Section 4).
	Only one Proposal	1.10	Interested Consultants may only submit one proposal. If a Consultant submits or participates in more than one proposal, such proposals shall be disqualified.
	Proposal Validity	1.11	The Data Sheet indicates how long Consultants' Proposals must remain valid after the submission date. During this period, Consultants shall maintain the availability of Professional staff nominated in the Proposal. The Client will make its best effort to complete negotiations within this period. Should the need arise, however, the Client may request Consultants to extend the validity period of their proposals. Consultants who agree to such extension shall confirm that they maintain the availability of the Professional staff nominated in the Proposal, or in their confirmation of extension of validity of the Proposal, Consultants could submit new staff in replacement, who would be considered in the final evaluation for agreement award. Consultants who do not agree have the right to refuse to extend the validity of their Proposals.
	Eligibility of Sub- Consultants	1.12	In case a Consultant intends to associate with Consultants or individual expert(s), such other Consultants and/or individual expert(s) shall be subject to the eligibility criteria set forth in the Guidelines.
2.	Clarification and Amendment of RFP Documents	2.1	Consultants may request a clarification of any of the RFP documents up to the number of days indicated in the Data Sheet before the proposal submission date. Any request for clarification must be sent in writing, or by standard electronic means to the Client's address indicated in the Data Sheet. The Client will respond in writing, or by standard electronic means and will send written copies of the response (including an explanation of the query but without identifying the source of inquiry) to all Consultants. Should the Client deem it necessary to amend the RFP as a result of a clarification, it shall do so following the procedure under para. 2.2.
		2.2	At any time before the submission of Proposals, the Client may amend the RFP by issuing an addendum in writing or by standard electronic means. The addendum shall be sent to all Consultants and will be binding on them. Consultants shall acknowledge receipt of all amendments. To give Consultants reasonable time in which to take an amendment into account in their Proposals the Client may, if the amendment is substantial, extend the deadline for the submission of Proposals.

- 3. Preparation of Proposals
 3.1 The Proposal (see para. 1.2), as well as all related correspondence exchanged by the Consultants and the Client, shall be written in the language (s) specified in the Data Sheet.
 - 3.2 In preparing their Proposal, Consultants are expected to examine in detail the documents comprising the RFP. Material deficiencies in providing the information requested may result in rejection of a Proposal.
 - 3.3 While preparing the Technical Proposal, Consultants must give particular attention to the following:
 - (a) If interested Consultant considers that it may enhance its expertise for the assignment by associating with other Consultants in a joint venture or sub-consultancy, it may associate with other consultant Any associations must be clearly indicated in the technical proposal. In case of a joint venture, all partners shall be jointly and severally liable and shall indicate who will act as the leader of the joint venture.
 - (b) For fixed-budget-based assignments, the available budget is given in the Data Sheet, and the Financial Proposal shall not exceed this budget.
 - (c) Alternative professional staff shall not be proposed, and only one curriculum vitae (CV) may be submitted for each position.
 - 3.4 The Technical Proposal shall provide the information indicated in the following paras from (a) to (g) using the attached Standard Forms (Section 3). Paragraph (c) (ii) indicates the recommended number of pages for the description of the approach, methodology and work plan of the Technical Proposal. A page is considered to be one printed side of A4 or letter size paper.
 - (a) description of the Consultants' А brief organization and an outline of recent experience of the Consultants (each partner in case of joint venture) on assignments of a similar nature is required in Form TECH-2 of Section 3. For each assignment, the outline should indicate the names Sub-Consultants/ Professional staff of who participated, duration of the assignment, agreement amount, and Consultant's involvement. Information should be provided only for those assignments for which the Consultant was legally engaged by the Client as a firm or as one of the major firms within a joint venture. Assignments

Technical Proposal Format and Content completed by individual Professional staff working privately or through other consulting firms cannot be claimed as the experience of the Consultant, or that of the Consultant's associates, but can be claimed by the Professional staff themselves in their CVs. Consultants should be prepared to substantiate the claimed experience if so requested by the Client.

- (b) Comments and suggestions on the Terms of Reference including workable suggestions that could improve the quality/ effectiveness of the assignment; and on requirements for counterpart staff and facilities including: administrative support, office space, local transportation, equipment, data, etc. to be provided by the Client (Form TECH-3 of Section 3).
- (c) A description of the approach, methodology and work plan for performing the assignment covering the following subjects: technical approach and methodology, work plan, and organization and staffing schedule. Guidance on the content of this section of the Technical Proposals is provided under Form TECH-4 of Section 3. The work plan should be consistent with the Work Schedule (Form TECH-8 of Section 3) which will show in the form of a bar chart the timing proposed for each activity.
- (d) The list of the proposed Professional staff team by area of expertise, the position that would be assigned to each staff team member, and their tasks (Form TECH-5 of Section 3).
- (e) CVs of the Professional staff signed by the staff themselves or by the authorized representative of the Professional Staff (Form TECH-6 of Section 3) along with their Computerized National Identity Card numbers (if local) or Passport numbers (if foreign).
- (f) A detailed description of the proposed methodology and staffing for training, if the Data Sheet specifies training as a specific component of the assignment.
- 3.5 The Technical Proposal shall not include any financial information. A Technical Proposal containing financial information may be declared non responsive.

Financial3.6The Financial Proposal shall be prepared using the
attached Standard Forms (Section 4). It shall list all costs

associated with the assignment, including (a) remuneration for staff. If appropriate, these costs should be broken down by activity and, if appropriate, into foreign and local expenditures. All activities and items described in the Technical Proposal must be priced separately; activities and items described in the Technical Proposal but not priced, shall be assumed to be included in the prices of other activities or items.

- Taxes3.7The Consultant may be subject to local taxes (such as:
value added or sales tax or income taxes on non resident
Foreign Personnel, duties, fees, levies) on amounts
payable by the Client under the Agreement. The Client
will state in the Data Sheet if the Consultant is subject to
payment of any taxes.
 - 3.8 Consultants should express the price of their services in Pakistan Rupees. Prices in other currencies should be converted to Pakistan Rupees using the selling rates of exchange given by the State Bank of Pakistan for the date indicated in the Data Sheet.
 - 3.9 Commissions and gratuities, if any, paid or to be paid by Consultants and related to the assignment will be listed in the Financial Proposal Form FIN-1 of Section 4.
 - 4.1 The original proposal (Technical Proposal and, if required, Financial Proposal; see para. 1.2) shall contain no interlineations or overwriting, except as necessary to correct errors made by the Consultants themselves. The person who signed the proposal must initial such corrections. Submission letters for both Technical and Financial Proposals should respectively be in the format of TECH-1 of Section 3, and FIN-1 of Section 4.
 - 4.2 An authorized representative of the Consultants shall initial all pages of the original Technical and Financial Proposals. The authorization shall be in the form of a written power of attorney accompanying the Proposal or in any other form demonstrating that the representative has been duly authorized to sign. The signed Technical and Financial Proposals shall be marked "ORIGINAL".
 - 4.3 The Technical Proposal shall be marked "ORIGINAL" or "COPY" as appropriate. The Technical Proposals shall be sent to the addresses referred to in para. 4.5 and in the number of copies indicated in the Data Sheet. All required copies of the Technical Proposal are to be made from the original. If there are discrepancies between the original and the copies of the Technical Proposal, the original governs.

4. Submission, Receipt, and Opening of Proposals

- 4.4 The original and all copies of the Technical Proposal shall be placed in a sealed envelope clearly marked "TECHNICAL PROPOSAL" Similarly, the original Financial Proposal (if required under the selection method indicated in the Data Sheet) shall be placed in a sealed envelope clearly marked "FINANCIAL PROPOSAL" followed by the name of the assignment, and with a warning "Do Not **OPEN WITH THE TECHNICAL PROPOSAL."** The envelopes containing the Technical and Financial Proposals shall be placed into an outer envelope and sealed. This outer envelope shall bear the submission address and title of the Assignment, clearly marked "Do NOT OPEN, EXCEPT IN PRESENCE OF THE OFFICIAL APPOINTED, BEFORE SUBMISSION DEADLINE". The Client shall not be responsible for misplacement, losing or premature opening if the outer envelope is not sealed and/or marked as stipulated. This circumstance may be case for Proposal rejection. If the Financial Proposal is not submitted in a separate sealed envelope duly marked as indicated above, this will constitute grounds for declaring the Proposal non-responsive.
- 4.5 The Proposals must be sent to the address/addresses indicated in the Data Sheet and received by the Client no later than the time and the date indicated in the Data Sheet, or any extension to this date in accordance with para. 2.2. Any proposal received by the Client after the deadline for submission shall be returned unopened.
- 4.6 The Client shall open the Technical Proposal immediately after the deadline for their submission. The envelopes with the Financial Proposal shall remain sealed and securely stored.
- 5. Proposal 5.1 From the time the Proposals are opened to the time the Agreement is awarded, the Consultants should not contact **Evaluation** the Client on any matter related to its Technical and/or Financial Proposal. Any effort by Consultants to influence the Client in the examination, evaluation, ranking of Proposals, and recommendation for award of Agreement may result in the rejection of the Consultants' Proposal.

Evaluators of Technical Proposals shall have no access to the Financial Proposals until the technical evaluation is concluded.

Evaluation of 5.2 The evaluation committee shall evaluate the Technical Technical Proposals on the basis of their responsiveness to the Terms of Reference, applying the evaluation criteria, subcriteria, **Proposals** and point system specified in the Data Sheet. Each responsive Proposal will be given a technical score (St). A

Proposal shall be rejected at this stage if it does not respond to important aspects of the RFP, and particularly the Terms of Reference or if it fails to achieve the minimum technical score indicated in the Data Sheet.

- Financial 5.3 Following the ranking of technical Proposals, when **Proposals for** selection is based on quality only (QBS), the first ranked Consultant is invited to negotiate its proposal and the OBS Agreement in accordance with the instructions given under para. 6 of these Instructions.
- **Public Opening** 5.4 After the technical evaluation is completed, the Client shall inform the Consultants who have submitted proposals the technical scores obtained by their Technical Proposals, and shall notify those Consultants whose Proposals did not meet the minimum qualifying mark or were considered non responsive to the RFP and TOR, that their Financial Proposals will be returned unopened after completing the selection process. The Client shall simultaneously notify in writing Consultants that have secured the minimum qualifying mark, the date, time and location for opening the Financial Proposals. Consultants' attendance at the opening of Financial Proposals is optional. The opening date shall be set so as to allow Consultants sufficient time interested to make arrangements for attending the opening.
 - Financial Proposals shall be opened publicly in the 5.5 presence of the Consultants' representatives who choose to attend. The name of the Consultants, and the technical scores of the Consultants shall be read aloud. The Financial Proposal of the Consultants who met the minimum qualifying mark will then be inspected to confirm that they have remained sealed and unopened. These Financial Proposals shall be then opened, and the total prices read aloud and recorded.
 - 5.6 The Evaluation Committee will correct any computational errors. When correcting computational errors, in case of discrepancy between a partial amount and the total amount, or between word and figures, the formers will prevail. In addition to the above corrections, as indicated under para. 3.6, activities and items described in the Technical Proposal but not priced, shall be assumed to be included in the prices of other activities or items. In case an activity or line item is quantified in the Financial Proposal differently from the Technical Proposal, (i) if the Time-Based form of agreement has been included in the RFP, the Evaluation Committee shall correct the quantification indicated in the Financial Proposal so as to make it consistent with that indicated in the Technical

and Evaluation of Financial **Proposals** (only for QCBS, **Fixed Budget** Selection, and Least-Cost Selection)

Proposal, apply the relevant unit price included in the Financial Proposal to the corrected quantity and correct the total Proposal cost, (ii) if the Lump-Sum form of agreement has been included in the RFP, no corrections are applied to the Financial Proposal in this respect.

- 5.7 In case of QCBS, the lowest evaluated Financial Proposal (Fm) will be given the maximum financial score (Sf) of 100 points. The financial scores (Sf) of the other Financial Proposals will be computed as indicated in the Data Sheet. Proposals will be ranked according to their combined technical (St) and financial (Sf) scores using the weights (T = the weight given to the Technical Proposal; P = the weight given to the Financial Proposal; T + P = 1) indicated in the Data Sheet: S = St x T% + Sf x P%. The firm achieving the highest combined technical and financial score will be invited for negotiations.
- 5.8 In the case of Fixed-Budget Selection, the Client will select the firm that submitted the highest ranked Technical Proposal within the budget. Proposals that exceed the indicated budget will be rejected. In the case of the Least-Cost Selection, the Client will select the lowest proposal among those that passed the minimum technical score. In both cases the evaluated proposal price according to para. 5.6 shall be considered, and the selected firm is invited for negotiations.
- 6. Negotiations
 6.1 Negotiations will be held at the date and address indicated in the Data Sheet. The invited Consultant will, as a prerequisite for attendance at the negotiations, confirm availability of all Professional staff. Failure in satisfying such requirements may result in the Client proceeding to negotiate with the next-ranked Consultant. Representatives conducting negotiations on behalf of the Consultant must have written authority to negotiate and conclude an Agreement.
 - Technical 6.2 Negotiations will include a discussion of the Technical Proposal, the proposed technical approach negotiations and methodology, work plan, and organization and staffing, and any suggestions made by the Consultant to improve the Terms of Reference. The Client and the Consultants will finalize the Terms of Reference, staffing schedule, work schedule, logistics, and reporting. These documents will then be incorporated in the Agreement as "Description of Services". Special attention will be paid to clearly defining the inputs and facilities required from the Client to ensure satisfactory implementation of the assignment. The Client shall prepare minutes of negotiations which will be signed by the Client and the

Consultant.

- **Financial** 6.3 If applicable, it is the responsibility of the Consultant, before starting financial negotiations, to determine the tax amount to be paid by the Consultant under the Agreement. The financial negotiations will reflect the agreed technical modifications in the cost of the services. Financial negotiations can involve the remuneration rates for staff or other proposed unit rates if there is a revision of scope or if the bid rate exceeds the available budget.
- Availability of 6.4 Having selected the Consultant on the basis of, among Professional other things, an evaluation of proposed Professional staff, staff/experts the Client expects to negotiate an Agreement on the basis of the Professional staff named in the Proposal. Before agreement negotiations, the Client will require assurances that the Professional staff will be actually available. The Client will not consider substitutions during agreement negotiations unless both parties agree that undue delay in the selection process makes such substitution unavoidable or for reasons such as death or medical incapacity. If this is not the case and if it is established that Professional staff were offered in the proposal without confirming their availability, the Consultant may be disqualified. Any proposed substitute shall have equivalent or better qualifications and experience than the original candidate and be submitted by the Consultant within the period of time specified in the letter of invitation to negotiate.
- Conclusion of
the negotiations6.5Negotiations will conclude with a review of the draft
Agreement. To complete negotiations the Client and the
Consultant will initial the agreed Agreement. If
negotiations fail, the Client will invite the Consultant
whose Proposal received the second highest score to
negotiate an Agreement.
- 7. Award of Agreement
 7.1 After completing negotiations the Client shall award the Agreement to the selected Consultant and publish details on the Planning & Development Department website and promptly notify all Consultants who have submitted proposals. After Agreement signature, the Client shall return the unopened Financial Proposals to the unsuccessful Consultants.
 - 7.2 The Consultant is expected to commence the assignment on the date and at the location specified in the Data Sheet.
- 8. Confidentiality 8.1 Information relating to evaluation of Proposals and recommendations concerning awards shall not be disclosed to the Consultants who submitted the Proposals or to other persons not officially concerned with the process, until the publication of the award of Agreement.

The undue use by any Consultant of confidential information related to the process may result in the rejection of its Proposal and may be subject to the provisions of the Consultant Selection Guidelines relating to fraud and corruption.

Instructions to Consultants

Data Sheet

Paragraph Reference	
1.1	Name of the Client: Government of Punjab, Specialized Healthcare and Medical Education Department.
	Method of selection: Least Cost Method
1.2	Financial Proposal to be submitted together with Technical Proposal: Yes $\sqrt{-}$ No Name of the assignment is: Third Party Evaluation of Procurement, Supply & Consumption of Medicine, Surgical Disposables and Supplies Specialized Healthcare and Medical Education (SHC&ME) Institutions, in Punjab
1.3	A pre-proposal conference will be held: Yes _√_ No Date of proposal conference: 8 th April 2016 (3.00 PM). The Client's representative is: Mr. Tayyab Farid (Procurement Specialist) Address: Office of Secretary Specialized Healthcare and Medical Education Department, Civil Secretariat, Lahore Telephone:042-99211702; 0308-4656644 E-mail: secyhealth@punjab.gov.pk
1.4	The Client will provide the following: List of Medical Store with location details List of Medical Superintendents / Facility In-charge and there contact details List of Medicine and inventory stock count of each institution.
1.6.1 (a)	The Client envisages the need for continuity for downstream work: Yes No $_{}$
1.12	Proposals must remain valid <u>90 Days</u> after the submission date.
2.1	Clarifications may be requested not later than 13 th of April 2016. The address for requesting clarifications is: Procurement Specialist Address: Office of Secretary Specialized Healthcare and Medical Education Department, Civil Secretariat, Lahore Telephone:042-99211702; 0308-4656644

3.1	Proposals shall be submitted in the following language:E	English
3.3 (b)	The Financial Proposal shall not exceed the available budg	
3.4 (a)	Firms should submit details of: List of partners with addresses List of members of staff with qualification List of the name and address of the offices Name of client and details of each assignment in the last 5 years.	
3.7	Amounts payable by the Client to the Consultant under the subject to local taxation: Yes $$ No	agreement to be
3.8	The date of exchange rates is:N/A	
4.3	Consultant must submit the original and <u>Three</u> copies of Proposal, and the original of the Financial Proposal.	the Technical
4.5	The Proposal submission address Office of Secretary Specialized Healthcare and Medical Edu Department, Civil Secretariat, Lahore Telephone:042-99210749;	ucation
5.2 (a)	Criteria, sub-criteria, and point system for the evaluation of Proposals are: (i) Company Profile:	Technical <u>Points</u> [100]
	a) Company Strength	[50]
	1)No. of Accountants 1-20 = 10 marks 21-40 = 20 marks 41-60 = 30 marks 61-80 = 40 marks 81 and above = 50 marks	[15]
	2)No. of partners in Pakistan: 1 - 3 = 10 4 - 6 = 15 6 - 10 = 20 11 - 15 = 25 above $15 = 30$	[15]
	3)No. of offices in Pakistan: Each office fetches 2 points	[10]

	4) ICAP QCR Rating of the firm. [10] Firms having satisfactory QCR rating by ICAP scores 10 marks
	$Total = A_1$
	b) Company Experience with similar assignments [50] No. of Medicinal Stock counts/Audit of Pharmaceutical companies conducted in the last 5 years (Starting from 1 st Jan 2011)
	Above 500 million = 50 Marks 400 million up to 500 million = 40 Marks 300 million up to 400 million = 30 Marks 200 million up to 300 million = 20 Marks 100 million to 200 million = 10 Marks Less than 100 million = No marks
	(ii) Financial Capability As per SBP List
	Category A = 100 Category B = 75 Category C = 50 [100]
	$Total = A_2$
	(iii)Approach & Methodology:[100]a) Technical approach and Methodology[50]b) Work plan[25]c) Organization and Staffing[25]
	NOTE: The Firm will make a presentation to the technical scrutiny committee.
	$Total = A_3$ $Technical Score* = A_1[60] + A_2[20] + A_3[20]$ $100 + 100$
	The minimum technical score St required to pass is: <u>65</u> Points
	The technically qualified Firm with the Lowest Bid shall be selected.
6.1	Expected date and address for agreement negotiations: Expected date: 20 April, 2016. Specialized Healthcare and Medical Education Department, Civil Secretariat Lahore.

7.2	Expected date for commencement of consulting services
	22 April 2016
	at Address: Office of Secretary Specialized Healthcare and Medical
	Education Department, Civil Secretariat, Lahore

Section 3: Technical Proposal - Standard Forms

Refer to Reference Paragraph 3.4 of the Data Sheet for format of Technical Proposal to be submitted

- TECH-1 Technical Proposal Submission Form
- TECH-2 Consultant's Organization and Experience
 - A Company Profile
 - Company Strength
 - Company Experience with similar Project
 - B Financial Capability
 - C Approach and Method
- TECH-3 Comments or Suggestions on the Terms of Reference and on Counterpart Staff and Facilities to be provided by the Client
 - A On the Terms of Reference
 - B On the Counterpart Staff and Facilities
- TECH-4 Description of the Approach, Methodology and Work Plan for Performing the Assignment
- TECH-5 Team Composition and Task Assignments
- TECH-6 Curriculum Vitae (CV) for Proposed Professional Staff
- TECH-7 Staffing Schedule
- TECH-8 Work Schedule

FORM TECH-1 TECHNICAL PROPOSAL SUBMISSION FORM

Location:	Date

To:

Dear Sir,

We, the undersigned, offer to provide the consulting services for Third Party Evaluation of Procurement, Supply & Consumption of Medicine, Surgical Disposables and Supplies Specialized Healthcare and Medical Education (SHC&ME) Institutions, in Punjab in accordance with your Request for Proposal dated 15th April 2016 and our Proposal. We are hereby submitting our Proposal, which includes this Technical Proposal, and a Financial Proposal sealed under a separate envelope¹.

We are submitting our Proposal in association with(2):

We hereby declare that all the information and statements made in this Proposal are true and accept that any misinterpretation contained in it may lead to our disqualification.

If negotiations are held during the period of validity of the Proposal, i.e., before the date indicated in Paragraph Reference 1.12 of the Data Sheet, we undertake to negotiate on the basis of the proposed staff. Our Proposal is binding upon us and subject to the modifications resulting from Agreement negotiations.

We undertake, if our Proposal is accepted, to initiate the consulting services related to the assignment not later than the date indicated in Paragraph Reference 7.2 of the Data Sheet.

We understand you are not bound to accept any Proposal you receive.

We remain,

Yours sincerely,

Authorized Signature [In full and initials]: _	
Name and Title of Signatory:	
Name of Firm:	
Address:	

^{1 [}In case Paragraph Reference 1.2 of the Data Sheet requires to submit a Technical Proposal only, replace this sentence with: "We are hereby submitting our Proposal, which includes this Technical Proposal only."]

^{2 [}Delete in case no association is foreseen.]

FORM TECH-2 CONSULTANT'S ORGANIZATION AND EXPERIENCE

A - Consultant's Organization

[*Provide here a brief (two pages) description of the background and organization of your firm/entity (including organogram) and each associate for this assignment.*]

- 1. Firm Background:
- 2. Chief Executive Officer:
- 3. Board of Directors / Partners.
- 4. Departmental Structure of the Firm
- 5. Organogram

A-I

- 1. Whether your Firm is ISO Certified? If so provide a copy of ISO Certification.
- 2. Firms Quality Management System. How does your firm maintain quality at every step of consultancy assignment? Provide your firm's quality management mechanism in descriptive form.

B - Consultant's Experience

[Using the format below, provide information on each assignment for which your firm, and each associate for this assignment, was legally contracted as a corporate entity or as one of the major companies within an association, for carrying out consulting services similar to the ones requested under this Assignment. Use maximum 20 pages. Please provide Client's certification and/or evidence of the contract agreement.]

Assignment name:	Cost of the Project		
Country: Location within country:	Duration of assignment (months):		
Name of Client:	Total N^{2} of staff-months (by your firm) on the assignment:		
Start date (month/year): Completion date (month/year):	 Total Value of the Consultancy Agreement. Value of consultancy services provided by your firm under the agreement (in current PKR or US\$): 		
Name of associated Consultants, if any:	$N^{\underline{o}}$ of professional staff-months provided by associated Consultants:		
Name of senior professional staff of your firm involved profiles such as Project Director/Coordinator, Team Le			
Narrative description of Project:			
Description of actual services provided by your staff w	vithin the assignment		
 Firms Name: Certificate by the Client / Employer that the work was successfully completed by the consultant. 			

FORM TECH-3 COMMENTS AND SUGGESTIONS ON THE TERMS OF REFERENCE AND ON COUNTERPART STAFF AND FACILITIES TO BE PROVIDED BY THE CLIENT

A - On the Terms of Reference

[Present and justify here any modifications or improvement to the Terms of Reference you are proposing to improve performance in carrying out the assignment (such as deleting some activity you consider unnecessary, or adding another, or proposing a different phasing of the activities). Such suggestions should be concise and to the point, and incorporated in your Proposal.]

B – On Provided Documents

[Comment here on the documents provided by the Client according to Paragraph Reference 1.4 of the Data Sheet]

FORM TECH-4 DESCRIPTION OF APPROACH, METHODOLOGY AND WORK PLAN FOR PERFORMING THE ASSIGNMENT

[Technical approach, methodology and work plan are key components of the Technical Proposal. You are suggested to present your Technical Proposal (50 pages, inclusive of charts and diagrams) divided into the following three chapters:

- a) Technical Approach and Methodology,
- b) Work Plan, and
- c) Organization and Staffing,

a) <u>Technical Approach and Methodology.</u> In this chapter you should explain your understanding of the objectives of the assignment, approach to the services, methodology for carrying out the activities and obtaining the expected output, and the degree of detail of such output. You should highlight the problems being addressed and their importance, and explain the technical approach you would adopt to address them. You should also explain the methodologies you propose to adopt and highlight the compatibility of those methodologies with the proposed approach.

b) <u>Work Plan.</u> In this chapter you should propose the main activities of the assignment, their content and duration, phasing and interrelations, milestones (including interim approvals by the Client), and delivery dates of the reports. The proposed work plan should be consistent with the technical approach and methodology, showing understanding of the TOR and ability to translate them into a feasible working plan. A list of the final documents, including reports, drawings, and tables to be delivered as final output, should be included here. The work plan should be consistent with the Work Schedule of Form TECH-8.

c) <u>Organization and Staffing.</u> In this chapter you should propose the structure and composition of your team. You should list the main disciplines of the assignment, the key expert responsible, and proposed technical and support staff.]

FORM TECH-5 TEAM COMPOSITION AND TASK ASSIGNMENTS

1

Name of Staff	CNIC No./Passport No.	Firm	Area of Expertise	Position Assigned	Task Assigned

FORM TECH-6 CURRICULUM VITAE (CV) FOR PROPOSED PROFESSIONAL STAFF

6. Education :

Degree	Major/Minor	Institution	Date (MM/YYYY)

7. Membership of Professional Associations: _____

8. Other Training [Indicate significant training since degrees under 6 - Education were obtained]: _____

- 9. Languages [For each language indicate proficiency: good, fair, or poor in speaking, reading, and writing]:
- **10. Employment Record** [Starting with present position, list in reverse order every employment held by staff member since graduation, giving for each employment (see format here below): dates of employment, name of employing organization, positions held.]:

Employer	Position	From (MM/YYYY)	То (ММ/ҮҮҮҮ)

11. Detailed Tasks Assigned [List all tasks to be performed under this assignment]

12	. Work Undertaken that Best Illustrates Capability to I	Handle the Tasks Assigned
	[Among the assignments in which the staff has been involved, indicat assignments that best illustrate staff capability to handle the tasks list	
1)	Name of assignment or project & Location:	Cost of Project
	Date of Start Date of Completion	
	Actual Time Spent on the Project:	
	Client:	
	Main project features:	
	Positions held:	
	Activities performed:	
2)	Name of assignment or project & Location: Date of Start Date of Completion	
	Actual Time Spent on the Project:	in months.
	Client:	

Main project features:	
Positions held:	
Activities performed:	

3) Name of assignment or project & Location:	Cost of Project				
Date of Start Date of Completion					
Actual Time Spent on the Project:	in months.				
Client:					
Main project features:					
Positions held:					
Activities performed:					
4) Name of assignment or project & Location:	Cost of project				
Date of Start Date of Completion					
Actual Time Spent on the Project:	in months.				
Client:					
Main project features:					
Positions held:					
Activities performed:					
5) Name of assignment or project & Location:	Cost of project				
Date of Start Date of Completion					
Actual Time Spent on the Project:	in months.				
Client:					
Main project features:					
Positions held:					
Activities performed:					

13. Certification:

I, the undersigned, certify that to the best of my knowledge and belief, this CV correctly describes myself, my qualifications, and my experience. I understand that any wilful misstatement described herein may lead to my disqualification or dismissal, if engaged.

	Date:	
[Signature of staff member or authorized representative of the staff]		Day/Month/Year

Full name of authorized representative:

FORM TECH-7 STAFFING SCHEDULE¹

														////		Full time in Part time in
Ŋ	Year:															
N°	N° Name of Staff Staff Staff Staff input (in the form of a bar chart) ²										Total staff-month input					
IN		Jan	Feb	Mar	Apr	May	Jun	Jul	Aug	Sep	Oct	Nov	Dec	Home	Field ³	Total
Local		·					•									
1		[Home]														
1		[Field]														
2									<u></u>							
_																
3				_												
Ν				+			 							-		
				<u> </u>	<u> </u>	<u> </u>			<u> </u>		Subto	tal				
											Total					

1 For Professional Staff the input should be indicated individually; for Support Staff it should be indicated by category (e.g.: draftsmen, clerical staff, etc.).

2 Months are counted from the start of the assignment. For each staff indicate separately staff input for home and field work.

3 Field work means work carried out at a place other than the Consultant's home office.

	Year:												
NIO	<u> </u>	Months ²											
N°	Activity ¹	Jan	Feb	Mar	Apr	May	Jun	Jul	Aug	Sep	Oct	Nov	Dec
1													
2													
3													
4													
5													
n													

1 Indicate all main activities of the assignment, including delivery of reports (e.g.: inception, interim, and final reports), and other benchmarks such as Client approvals. For phased assignments indicate activities, delivery of reports, and benchmarks separately for each phase.

2 Duration of activities shall be indicated in the form of a bar chart.

Section 4: Financial Proposal - Standard Forms

Financial Proposal Standard Forms shall be used for the preparation of the Financial Proposal according to the instructions provided under para. 3.6 of Section 3. Such Forms are to be used whichever is the selection method indicated in para. 4 of the Letter of Invitation.

FIN-1 Financial Proposal Submission Form

FIN-2 Summary of Costs

- FIN-3 Breakdown of Costs by Activity
- FIN-4 Breakdown of Payments
- Appendix: Financial Negotiations Breakdown of Remuneration Rates

FORM FIN-1 FINANCIAL PROPOSAL SUBMISSION FORM

Date:

To:

Dear Sir,

We, the undersigned, offer to provide the consulting services for "Third Party Evaluation of Procurement, Supply & Consumption of Medicine, Surgical Disposables and Supplies Specialized Healthcare and Medical Education (SHC&ME) Institutions, in Punjab " in accordance with your Request for Proposal dated ______and our Technical Proposal. Our attached Financial Proposal is for the sum of_______. This amount is inclusive of the taxes.

Our Financial Proposal shall be binding upon us subject to the modifications resulting from Agreement negotiations, up to expiration of the validity period of the Proposal, i.e. before the date indicated in Paragraph Reference 1.12 of the Data Sheet.

No commissions or gratuities have been or are to be paid by us to agents relating to this Proposal and Agreement execution.

We understand you are not bound to accept any Proposal you receive.

We remain,

Yours sincerely,

Authorized Signature [In full and initials]:
Name and Title of Signatory:
Name of Firm:
Address:

	Costs					
Item	Pak Rupees					
Local Taxes						
Total Costs of Financial Proposal						

Indicate the total costs, net of local taxes. Such total costs must coincide with the sum of the relevant Subtotals indicated in all Forms FIN-3 provided with the Proposal.

FORM FIN-3 BREAKDOWN OF COSTS BY ACTIVITY¹

Group of Activities (Phase): ²	Description: ³
	Costs
Cost component	Pak Rupees
Subtotals	

- 1 Form FIN-3 shall be filled at least for the whole assignment. In case some of the activities require different modes of billing and payment (e.g.: the assignment is phased, and each phase has a different payment schedule), the Consultant shall fill a separate Form FIN-3 for each group of activities. For each currency, the sum of the relevant Subtotals of all Forms FIN-3 provided must coincide with the Total Costs of Financial Proposal indicated in Form FIN-2.
- 2 Names of activities (phase) should be the same as, or correspond to the ones indicated in the second column of Form TECH-8.
- 3 Short description of the activities whose cost breakdown is provided in this Form.

FORM FIN-4 BREAKDOWN OF PAYMENTS

The Breakdown of Payments are as follows:

- 1- Inception Report (20%):
 - a. 15 percent of the payment shall be made by the client upon the submission on the Inception Report.
 - b. 5 percent of the total payment shall be made once the reporting format has been approved by the Client. Suggestions will be made by the client for the Draft and Final Report.

Consultant receivables for the inception report shall be paid by the client after both the aforementioned steps have been conducted.

2- Draft Report: (40%)

- a. 25 percent of the payment has been allocated for the "Stock Evaluation" section:
 - i. The draft should be based upon the criteria proposed in the Inception Report.
 - ii. The draft should include the findings of all the activities proposed by the consultant and required by the client
- b. 15 percent of the payment has been allocated for the "Procurement Process" section:
 - i. The draft should be based upon the criteria proposed in the Inception Report

– Sample Form

ii. The draft should include the findings of all the activities proposed by the consultant and required by the client The client shall review the draft and make observations. The two parties will

discuss (any) issues. Consultant receivables for the draft report shall be paid by the client after both the aforementioned steps have been conducted.

3 – Final Report: (40%)

i. Once the Final Report has been submitted and presented the consultant shall be paid.

Consulting Firm: Assignment:

Date:

Consultant's undertaking

The data collected will be the property of the health department and it will not be shared/replicated/transformed with any person/organization/institution (National/International) during and after the process.

[Name of Consulting Firm]

Signature of Authorized Representative

Name: _____

Title:

Date

TERMS OF REFERENCES (TORs)

FOR

Third Party Evaluation of Procurements, Supply & Consumption of Medicines, Surgical Disposables and Supplies in Hospitals under the Administrative Control of Specialized Healthcare and Medical Education (SHC&ME) Department, Punjab

1. INTRODUCTION

Specialized Healthcare and Medical Education (SHC&ME) Department includes medical universities, teaching hospitals, Specialized Institutions and Autonomous Medical Institutions (AMIs). The hospitals that come under SHC&ME are providing tertiary care health services. Some DHQs that have been expanded into teaching hospitals also come under the SHC&ME Department.

2. OBJECTIVES

SHC&ME intends to acquire the services of independent Third Party Evaluation (TPE) firm for performing the TPE of Procurement Processes for the purchase of medicines and stock take of medicines both in terms of available stocks and consumed during the current financial year up to 26 March 2016to improve existing procurement processes and inventory management.

3. SCOPE OF WORK

SHC&ME Department aims to perform Stock take of drugs/ medicines/ surgical disposable of 39 institutions (hospitals) as per list (Annex A). In addition, the firm will also perform audit of the procurement processes undertaken by the respective institutions/hospitals in line with PPR 2014. The assignment includes Gap Analysis Report for future policy interventions.

SPECIFIC TASKS:

The following evaluation methods may be used for this evaluation:

(1) Audit of documents (stock register, summary/daily expense register, supply orders / invoices/ delivery challan, physical inspection report, analysis report of DTL, indent books etc.)

(2)Procurement documents including notification of relevant committees, standard bidding document, minutes of the meeting of the relevant committees, formal contract agreements / supply orders

(3) Comparative analysis regarding efficiency among all institutions / hospitals.

STOCK-TAKE Tasks:

The scope of services shall include but not limited to the following:-

- Implementation of procurement procedures in line with PPR 2014.
- Overall inventory evaluation.
- Ascertain, verify and authenticate inventory of drugs/medicines at medicine stores of the concerned hospitals;
- Whether there is any expired / substandard drugs/medicines in the working shelves.
- Give concrete recommendations to improve the procurement process and inventory management.

Procurement Processes Tasks:

The scope of services shall include but not limited to the following:-

- Pre-qualification documents (if applicable) / tender documents including evaluation matrix have been approved by the head of the procuring agency.
- The tenders evaluated in accordance with the criteria set in tender document.
- The bid evaluation report approved by head of the procuring agency before publication and unsuccessful tenders notified accordingly.
- The necessary performance guarantee(s) been obtained from the lowest evaluator bidder as defined in bidding documents.
- The contract has been properly closed and the records been properly archived ready for audit.

4. CORE TEAM REQUIRED FOR THE ASSIGNMENT

The following staff will be required by the bidder/firm to accomplish the assignment.

Sr. No.	Designation	No. of Staff	Qualification
1.	Team Lead	1	Adequate (not less than 5 years) Experience in Project Management
2.	Inventory Management Expert	1	Adequate (not less than 3 years) experience in procurement, supply and storage of medicine
3.	Financial Expert	1	Adequate experience in evaluating public sector financial systems

			Doctor of
			pharmacy
4.	Pharmacist	1	with minimum
			5 years of
			experience

Note: Consultant firm will arrange sufficient, trained and technical staff, in addition to core team, to complete the assignment within stipulated time.

5. DELIVERABLES and TIMESCALE

DELIVERABLES: The consultant will submit the following outputs by both, and softcopy. Language is English.

- Inception Report
- Raw data (Excel format)
- Draft report
- Final report

Suggested Evaluation Report Format:

The evaluation report shall comprise of:

- 1. Executive Summary
- 2. Introduction and Background
- 3. Aims and Objectives
- 4. Methodology
- 5. Evaluation Report
- 6. Analysis of the report
- 7. Inference
- 8. Recommendations

PROPOSED TIMELINE:

- <u>Week 1:</u>
 - Inception Report: Design of Evaluation Study and Stock take plan
- Week 2:
 - Field Visits / Physical Inspection: Data collection, Data analysis
- <u>Week 3</u>:
 - Submission of draft report.
- Week 4:
 - Review of DFR by the administrative department and submission of Final Report

.....

ANNEX:

Documents to be provided by SHC&ME

List of institutions Medicine Inventory list by institutions List of store in-charges

MEDICAL COLLEGES

Sr.	University/Medical College
No.	
1	University of Health Sciences, Lahore
2	King Edward Medical University, Lahore
3	Fatima Jinnah Medical University, Lahore
4	Shaikh Zayed Medical Complex, Lahore
5	Allama Iqbal Medical College, Lahore
6	Services Institute of Medical Sciences, Lahore
7	Ameer-ud-Din Medial College, Lahore
8	Gujranwala Medical College, Gujranwala
9	Punjab Medical College, Faisalabad
10	Nishtar Medical College, Multan
11	Quaid-e-Azam Medical College, Bahawalpur
12	Sheikh Zayed Medical College, Rahim Yar Khan
13	D.G.Khan Medical College, D.G.Khan
14	Sargodha Medical College, Sargodha
15	Sahiwal Medical College, Sahiwal
16	Nawaz Sharif Medical College, Gujrat
17	Rawalpindi Medical College, Rawalpindi
18	De'Montmorency College of Dentistry Lahore
19	Nishtar Institute of Dentistry, Multan
20	Dental Section Punjab Medical College, Faisalabad
21	Khawaja Muhammad Safdar Medical College, Sialkot
22	Institute of Public Health, Lahore

HOSPITALS

Sr. No.	Name of Institution
1	Mayo Hospital, Lahore
2	Jinnah Hospital, Lahore
3	Sir Ganga Ram Hospital, Lahore
4	Lahore General Hospital, Lahore
5	Services Hospital, Lahore
6	Sheikh Zayed Hospital, Lahore
7	Punjab Institute of Cardiology, Lahore
8	Lady Waliingdon Hospital, Lahore
9	Lady Aitchison Hospital, Lahore
10	Children's Hospital & ICH, Lahore
11	Govt. Nawaz Sharif Hospital, Yakki Gate, Lahore
12	Govt. Mian Munshi DHQ Teaching Hospital, Lahore
13	Punjab Institute of Mental Health, Lahore
14	Punjab Dental Hospital, Lahore
15	Government Mozang Hospital, Lahore
16	Government Said Mitha Hospital, Lahore
17	Government Teaching Hospital, Shahdara, Lahore
18	Kot Khawaja Saeed Hospital, Lahore
19	Ch. Pervaiz Elahi Institute of Cardiology, Multan
20	Nishtar Hospital, Multan
21	Children Hospital & ICH, Multan
22	Faisalabad Institute of Cardiology, Faisalabad
23	Rawalpindi Institute of Cardiology, Rawalpindi
24	Wazirabad Institute of Cardiology, Wazirabad
25	Allied Hospital, Faisalabad
26	DHQ Hospital, Faisalabad
27	Benazir Bhutto Hospital, Rawalpindi
28	DHQ Teaching Hospital, Rawalpindi
29	Holy Family Hospital, Rawalpindi
30	Allama Iqbal Memorial Hospital, Sialkot
31	Aziz Bhatti Shaheed Hospital, Gujrat
32	Bahawal Victoria Hospital, Bahawalpur
-33	Sardar Begum Hospital, Sialkot
34Erro	DHQ Teaching Hospital, Sahiwal

35	Haji Abdul Qayyum Teaching Hospital, Sahiwal
36	DHQ Teaching Hospital, Sargodha
37	DHQ Hospital, Gujranwala
38	DHQ Teaching Hospital, DG Khan
39	Sheikh Zayed Hospital, R.Y. Khan





LIST OF MEDICINES AVALIABLE IN RAWALPINDI INSTITUTE OF CARDIOLOGY

ANTIANGINAL:

Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
				A	
1	Glyceryl Trinitrate 6.4 mg	Cardinit 6.4mg	60,000	10000	6 month
2	Glyceryl Trinitrate 2.6 mg	Sustac 2.6	30000	9000	4 month
3	Isosorbide 5 Mononitrate	Monis	40000	20000	2 month
	20mg				
4	Trimitazidine Hcl 35mg	Vastril MR	1,20000	20000	6 months

BETA-BLOCKERS:

Sr. No	Generic Name	Brand Name	Quantity	Per Month	Stock available
				consumption	for month
5	Metoprolol 25mg	Carsel 25mg	300000	50,000	6 months
6	Bisoprolol 2.5mg	Concor 2.5mg	180000	40000	4 months
7	Bisoprolol 5 mg	Concor 5 mg	190000	39000	5 months
8	Bisoprolol 10 mg	Concor 10 mg	25000	5000	5 months
9	Carvidalol 6.25mg	Carveda 6.25 mg	126000	40000	3 months
10	Propranalol 10mg	Inderol 10 mg	20000	10000	2 months
11	Nebevilol 2.5 mg	Nebil 2.5 mg	100000	15000	8 months
12	Nebevilol.5 mg	Nebil 5mg	103000	10000	10 months





CALCIUM- ANTAGONIST:

Sr. No	Generic Name	Brand Name	Quantity	Per Month	Stock available
				consumption	for month
13	Amlodipine 5 mg	Lodopin 5mg	410,000	35000	10 months
14	Amlodipine 10 mg	Lodopin 10 mg	110,000	12000	10 months
15	Diltiazem HCL 60 mg	Dilzem 60mg	55000	8000	6 months

ANGIOTENSIN II ANTAGONIST:

Sr. No	Generic Name	Brand Name	Quantity	Per Month	Stock available
				consumption	for month
16	Losartan Potassium 50mg	Xavor	400000	40000	10 months
17	Losartan + Hydrochlorthiazide	Xavor-Diu	400000	30000	12 months
	50/12.5 mg				
18	Amlodipine / Valsartan 5/80	Newday 5/80	6000	1500	4 months
19	Candesartan 8mg	Advant 8 mg	51000	7000	7 months
20	Candesartan 16mg	Advant 16 mg	40000	8000	5 months

ACE-INHIBITORS:

Sr. No	Generic Name	Brand Name	Quantity	Per Month	Stock available
				consumption	for month
21	Captropril 25mg	Garan 25mg	40000	10000	4 months
22	Prindopril 4 mg	Coversyl 4mg	30000	4000	4 months
23	Ramipril 2.5mg	Ramipace 2.5 mg	1,75000	40,000	6 months
24	Ramipril 5mg	Ramipace 5mg	40000	6000	6 months
25	Prindopril/ Amlodipine 4/5 mg	Coversam 4/5 mg	10000	2000	5 months
26	Prindopril/ Amlodipine 8/10 mg	Coversam 8/10 mg	30000	5000	6 months
27	Lasinopril 10mg	Lame-10	10000	3000	3 months





Sr. No	Generic Name	Brand Name	Quantity	Per Month	Stock available
				consumption	for month
28	Spironolactone 100mg	Aldactone 100mg	4500	1500	3 months
29	Frusemide /Spironalactone	Spiromide 20mg	40000	20000	2 months
30	Frusemide /Spironalactone	Spiromide 40mg	20000	10000	02 months
31	Frusemide	Gmide 40mg	257000	25000	10 months
32	Frusemide +Amiloride	Lasoride 40mg	21000	5000	4 months

LIPID LOWERING AGENTS:

Sr. No	Generic Name	Brand Name	Quantity	Per Month	Stock available
				consumption	for month
33	Atrovastatin 10mg	Lipiget 10mg	500000	50000	10 months
34	Atrovastatin 20mg	Lipirex 20mg	60000	15000	3 months
35	Rosuvastatin 5mg	X-plended 5mg	65000	14000	5 months
36	Rosuvastatin 10 mg	X-plended 10mg	77000	15000	5 months
37	Gemfibrozil 600mg	Gempid 600mg	2000	500	4 months
38	Fenofibrate 67.5 mg	Fenoget 67.5 mg	3500	750	4 months

ANTI-PLATELETS & ANTI-ARRYTHMICS:

Sr. No	Generic Name	Brand Name	Quantity	Per Month	Stock available
				consumption	for month
39	Aspirin 300mg	Disprin 300mg	60000	9000	6 months
40	Asprin 75mg	Loprin 75mg	710000	120000	5 months
41	Clopidogril + Aspirin 75/75 mg	Noclot-EA	400000	35000	10 months





42	Clopidogeral 75mg	Lowplate 75mg	440000	50000	8 months
43	Amiodaron 200mg	Cordaron 200mg	3500	700	5 months

ANTI-COAGULANT & CARDIAC GLYCOSIDE:

Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
44	Warfarin sodium 5mg	Warfin 5mg	27000	7000	4 months
45	Lanoxin 0.25mg	Digitek 25	30000	5000	6 months

HYPOGLYCEMIC DRUGS:

Sr. No	Generic Name	Brand Name	Quantity	Per Month	Stock available
				consumption	for month
46	Glibinclamide 5mg	Daonil 5mg	18500	2500	7 months
47	Gliclazide modified 60mg	Diamicron Mr 60mg	100000	15000	6 months
48	Gliclazide 80mg	Nidonil 80 mg	6000	500	12 months
49	Metformin 500 mg	Neuphage 500mg	380000	40000	8 months
50	Glimipride 2mg	Evopride 2mg	230000	20000	10 months
51	Glimipride 4mg	Evopride 4mg	80000	8000	10 months

ANTI-ALLERGIC:

Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
52	Citrazine	Gixer	4000	500	8 months





53	Montilukast 10 mg	Monticel	2000	500	4 months
54	Fexofenadine 120mg	Fifex-DS	4500	400	10 months

GIT DRUGS:

Sr. No	Generic Name	Brand Name	Quantity	Per Month	Stock available
				consumption	for month
55	Essomeprazole 20mg	Essomep 20mg	210000	20000	10 months
56	Essomeprazole 40mg	Essomep 40mg	350000	50000	7 months
57	Omeprazole 20 mg	Epra 20mg	395000	25000	12 months
58	Omeprazole 40mg	Epra 40mg	490000	40000	12 months
59	Famotadine 20mg	Optifam 20mg	260000	30000	8 months
60	Famotodine 40mg	Optifam 40mg	265000	25000	10 months
61	Dompridone 10mg	Geran 10mg	100000	10000	10 months

NSAIDS & ANTIGOUT:

Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
62	Paracetamol 500mg	Febrol 500mg	120000	15000	8 months
63	Diclofenac Potassium	Notif-K	20000	2500	8 months
64	Allupurinol 100 mg	Zyloric 100mg	8000	700	12 months
65	Allupurinol 300 mg	Zyloric 300mg	8000	800	10 months





ANTI-DEPRESSENT/TRANQUILLIZERS:

Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
66	Escitalopram 10mg	Eram 10mg	3000	700	4 months
67	Alprazolam 0.5mg	Prolam 0.5mg			

ANTIBIOTICS/ANTISPASMODIC:

Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
68	Metronidazole 400mg	Granide 400mg	13000	1000	13 months
69	Hyoscine		3000	300	10 months

LIST OF INJECTIONS AVALIABLE IN RAWALPINDI INSTITUTE OF CARDIOLOGY

Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
	LOCAL ANAESTHETICS				
1.	Lignocaine Solution 4%. of 50 ml or less, Packed in carton with leaflet	Xylocain	500	100	5 months
	ANALGESICS / ANTI INFLAMMATORY DRUGS				





	Inj Paracetamol Infusion 100ml.	Bofalgon	1000	200	5 months	
2.	packed in carton with leaflet.					

NARCOTIC ANALGESICS:

Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
3.	Inj Nalbuphine HCl 10mg/ml. Packed in carton with leaflet.	Nalbin 10mg	33000	5000	6 months
4.	Inj Tramodol 50mg/ml. Packed in carton with leaflet.	Mictra	500	200	2 months
5.	Inj. Ketorolac 30mg	Ketolan	9800	700	12 months
6.	Inj Midazolam HCl 5 mg/ 5ml. Ampule.	Noctrum	3000	800	4 months

ANTIDOTES:

Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
7.	Inj. Protamine Sulphate 10mg/ml Ampoule of 5ml. Packed in carton with leaflet.	Protamine/Howards	700	250	3 months





ANTACIDS/ ANTI ULCER DRUGS:

Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
8.	Inj. Ranitidine 50mg/2ml	Ranulcid	3500	1000	3 months
9.	Inj. Omeprazole 40mg (Omeprazole Sodium 42.6mg eq. to omeprazole 40mg, Lyophillized). Packed in carton with leaflet.	Risek 40mg	4000	600	7 months

ANTI EMETICS:

Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
10.	Inj. Dimenhydrinate 50mg/ml. Packed in carton with leaflet.	Ephadryl	27500	3000	9 months

SPASMOLYTICS

Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
11.	Inj Atropine Sulphate 1mg/ml, Ampoule of 1ml, Packed in carton with leaflet.	Atropine	1500	500	3 months





ANTI BIOTICS (MACROILIDES) :

Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
12.	Inj. Clarithromycin 0.5g (Lyophilized)individually packed with water for injection in carton with leaflet	Klaricid	400	100	4 months

ANTI BIOTICS (AMINO GLYCOSIDES):

Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
13.	Inj. Amikacin Sulphate 250mg Ampoule/ Vial. Packed in carton with leaflet.	Amkay	1000	150	6 months

ANTI BIOTICS (QUINOLONES):

Sr. No	Generic Name	Brand Name	Quantity	Per Month	Stock available
				consumption	for month
14.	Infusion Levofloxacin 500mg/100ml. Bottle / Bag of 100ml.	Sterilevo	1000	100	10 months
15.	Infusion Ciprofloxacin	Stericipro	1800	200	09months





ANTIBIOTICS (OTHER ANTI INFECTIVES AND MISC.)

Sr. No	Generic Name	Brand Name	Quantity	Per Month	Stock available
				consumption	for month
16.	Inj. Vancomycin HCl 1g. Vial of 20 ml. Individually packed in carton with leaflet.	Vancomycin/Abbott	600	200	03moths
17.	Inj. Vancomycin HCl 500. Vial of 20 ml. Individually packed in carton with leaflet.	Vancomycin/Abbott	1600	400	04months

CARDIO VASCULAR DRUGS:

Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
18.	Inj Digoxin 0.25mcg/ml, Ampoule of 2ml, Packed in carton with leaflet.	Lanoxin	1000	150	8 months
19.	Inj. Verapamil HCl 5mg/ 2ml. Packed in carton with leaflet.	Isoptin	150	50	03months
20.	Inj. Dobutamine 250mg. Packed in carton with leaflet.	Dobamine	4300	800	05months
21.	Inj. Isosorbide Dinitrate (0.1%) 10mg/10ml.	Isokit	4750	500	09months





22.	Inj. Metoprolol tartrate 5mg. packed in	Merol	3500	400	09months
23.	Inj. Amiodarone HCl 150mg/3ml. packed in carton with leaflet.	Cordarone	1200	500	02months
24.	Inj Adrenaline 1 in 1000. Glass Ampoule 1ml x100 Amp, Packed in carton with leaflet.	Adrenalin/Ameer pharma	3000	500	06months
25.	Inj. Norepinephrine / Noradernaline Tartrate 2 mg / ml.	Nor-Adrin	4500	700	6 months
26.	Inj. Adenosine	Adenosine	140	60	2 months
27.	Inj. Phenylepharine	Syniphrin	1050	200	5 months

NITRATE:

Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
28.	Inj. Nitronal Vial 50mg / 50ml	Nitronal	1450	300	4 months





ANTI PLATELETS (COAGULATION AND HAEMOSTATIC)

Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
29.	Inj Heparin 5000 IU/ml, Vial of 5ml, packed in carton with leaflet.	Heparotex	2100	1000	2 months
30.	Inj. Enoxaprin (Heparin LMW) PFS 40mg. packed in carton with leaflet.	Clexane 40	190	100	2 months
31.	Inj Streptokinase 1.5miu vial / Amp, Packed in carton with leaflet	Diclair-ST	900	250	3 months
32.	inj. Tirofiban	Aggrastat 50ml	100	50	2 months

HAEMOSTATIC / FIBRINOLYTIC:

Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
33.	Inj. Vitamin K 10mg/1ml I.V, Amp. of 1ml. packed in carton with leaflet.	Vit-K	200	50	4 months





Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
34.	Inj. Frusemide 20mg/2ml. Ampoule of 2ml. packed in carton with leaflet.	Ephamide	20000	10000	02monts

ELECTROLYTES:

Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
35.	Inj. Potassium Chloride ampoule of 20ml/25ml	Kcl	4500	1000	4 months
36.	Infusion Normal Saline. Bottle/bag of 1000ml with IV set.	Zeesol-NS	2000	1000	2 months
37.	Inj Sodium Bicarbonate 8.4%, Amp	Zeelon	4000	1500	3 months
38.	RINGER LACTATE 1000ML	Zeesol-RL	1300	400	3 months
39.	Inj. Ultrvist 370 (100 ml) 370mg/ml	Bayer Germany	1000	500	2 months





GLUCOCORTICOIDS

Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
40.	Inj. Dexamethasone 4mg/ml. Vial/amp of 5ml. Packed in carton with leaflet.	Geofman	4800	500	10 months
41.	INJ. Methyl Prednisalone 40mg	Depomedrol 40mg	50	10	5 months
42.	INJ. Methyl Prednisalone 80mg	Depomedrol 80mg	50	10	5 months
43.	Inj. Hydrocourtisone 500mg	Solucortif/Pfizer	1700	250	6 months

ANTI DIABETIC DRUGS:

Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
44.	Inj Insulin Plain (70/30) 100 IU/ml, Glass vial of 10ml,packed in carton with leaflet (Human)	Mixtard 70/30 Novo Nordisk	550	50	12 months





ELECTROLIDE:

Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
45.	Inj. Calcium Gluconate	Calcium Gluconate	600	300	2 months

BUTYROPHENONE:

Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
46.	Inj. Heloporidol 5mg/1ml	Halparidol	300	50	6 months
47.	Inj. Papavarin	Papaverine	130	70	2 months

B2-AGONIST/CORTICOSTEROID:

Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
48.	Sterofundin Plasma Adopted Electrolyt Solution 1000 ml	Sterofundin	5600	400	12 months
49.	Salbutamol Solution 20ml	Bronkal	790	60	12 months





Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
50.	Inj. Atracurium AMP 50MG/5ML	Atrilax 5ml	7000	1300	6 months
51.	Sevoflurane 250ML LIQ. (Note: The firm which win the tender will be bound to provide new vaporizer to RIC, within 02 weeks according to the statisfaction of the end user)	Sevorane	270	25	10 months
52.	Propofol Lipuro 10mg 1% 20ml inj.	Propofol	600	150	4 months
53.	Isoflorane 100 ML, 250ML (Note: The firm which win the tender will be bound to provide new vaporizer to RIC, within 02 weeks according to the statisfaction of the end user)	Isoforane	470	40	11 months





PLASMA SUBSTITUTE:

Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
54.	Gelatin Succinylated 500ml	Ecoflac	550	200	3 months

ANTI – ARRHYMTIC:

Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
55.	Dopamine HCLl 200mg/ml-5ml & 250mg/ml-10ml amp	Dopatropin	1000	200	5 months

ANTAGONIST:

Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
56.	Inj. Ondanseeron 8mg	Onset	280	70	4 months
57.	ANTI-BIOTICS				
58.	Inj.Cefotaxime 1gm	Cefomerc	1350	450	03months



Syrup:



Sr. No	Generic Name	Brand Name	Quantity	Per Month consumption	Stock available for month
59.	Syp lactose	Sanlac	1300	200	06 Months
60.	Syp. Antacid	Polysim	900	100	09 Months
61.	Syp. Nilstat Oral Drop	Nilstat	630	70	10 Months

DRUG/MEDICINES STOCK POSITION AT TEACHING HOSPITAL DERA GHAZI KHAN

SR.NO	NAME OF ITEM DRUG/MEDICINES	STOCK POSITION
1	Tab.Amitriptylline 25mg	64,000
2	Tab.Metoprolol 100mg	45,600
3	Tab.Levociterazine 5mg	175,950
4	Tab.Procyciadine HCL 5mg	33,000
5	Tab.Pyridoxine 50mg	41,500
6	Tab.Divlproex Sodium 500mg	40,250
7	Tab.Carbamazepine 200mg	83,950
8	Tab.Montelukast 10mg + Disloratidine	24,000
9	Tab.Gabapentene 400mg+ Mecoblamin 1000mcg	19,000
10	Tab.Linezolid 600mg	5,700
11	Tab.Resperidone 2mg	96,950
12	Tab.Lotrazole 2.5mg	400
13	Tab.Theophylline 300mg	5,400
14	Tab.Dydrogesterone 5mg	77,800
15	Tab.Multivitamin	66,800
16	Tab.Mecobalamin 500mg + Folicacid	180,000
17	Tab.Gliciazide 80mg	2,000
18	Tab.Elemental Calcium 400mg	24,800
19	Tab.Novonorm 1mg	3,000
20	Tab.Iron Polymaltose 250mg	7,000
21	Tab.Diacerarein 50mg + Glucosomine Sulphate 400mg	50,140
22	Tab.Ciprofloxacin 500mg	6,500
23	Tab.Levofloxacin 500mg	56,000
24	Syp.Levocitrazine 25mg	400
25	Syp.Sodium Valproate 250mg/5ml	975
26	Syp.Carbamazipine 100mg/5ml	349
20	Syp.Azithromycine 200mg/5ml	2,050
28	Syp.Zinc Cluconate 200mg	701
29	Syp.Levoflaxacine 250mg + Metronidazole 200 mcg	480
30	Syp.CalciumPhosphate	3,400
31	Syp.Montilucast 4mg + Disloradine	700
32	Syp.Metronidaizole 200mg/5ml	20,504
33	Syp.Ebstine 5mg/5ml	21,700
34	Tab.Famotadine 40mg	150,000
35	Cap.Amoxaciine 500mg	20,000
36	Tab.Glamiprede 2mg	3,800
37	Tab.Gravinate	1,200
38	Tab.Hyoseine Plus	5,900
39	Tab.Arthemether/ Lumifentrine 40mg/240mg	830
40	Tab.Corach	3,500
40	Pyodine Gel	170
41	Syp.Amonium Chloride	3,000
43	Syp.Cotrimoxozole	1,900
43	Tab.Cortimoxazole	2,500
45	Tab.Albendazole	2,300
45	Tab.Atenolol 50mg	4,600
40	Tab.Alprazolam 0.5mg	2,100
47	Tab.CPM	35,000
40	Tab.Oderox 500mg	1,500
50	Tab. Piroxicam 20mg	16,000
50	Tab.Peroxicalit 2011g Tab.Neproxin Sodium 550mg	14,700
51	Tab.Domperidone	50,000
52	Eye Drop Prochloramphincol 10ml	900
55		900
54	Eye Drop Dexamethasone 0.1%+ Tobramycine 5ml	

Store Keeper Teaching Hospital D.G.Khan

INJECTIONS STOCK POSITION AT TEACHING HOSPITAL DERA GHAZI KHAN

SR.NO	NAME OF ITEM INJECTIONS	STOCK POSTION
1	Inj.Plabolyte M 500ml with I.V Set	1,484
2	Inj.Levofloxacin 250mg/100ml with I.V Set	8,400
3	Inj.Ampiclox 500mg with Water	7,000
4	Inj.Suxamethunium 100mg	900
5	Inj.Plasma Substitute Inf 500ml with I.V Set	474
6	Inj.Cefpirome 500mg	1,600
7	Inj.Cefpirome 1gm	1,600
8	Inj.Dobutamine 250mg/5ml	1,400
9	Inj.Nelbuphin 10mg	10,000
10	Inj.Levofloxacin 750/100ml with I.V Set	3,539
11	Inj.Hyzonate 500mg with Water	63
12	Inj.Ketosave 10ml/30mg	35
13	Inj.Ketlan 30mg	1,000
14	Inj.Atropine	720
15	Inj.Vitamin K	780
16	Inj.Xyclocine	3,000
17	Inj.Amikacin Mictra 500mg	100
18	Inj.Isorbade Dinitrate	353
19	Inj.Adrenaline	830
20	Inj.Vitamin ED3	35
21	Inj.Oxytocin	5,000
22	Inj.Gelofusite 4% 500ml	98
23	Inj.Sterifudine 500mg	386
24	Inj.Aminophylline	800
25	Inj.Normal Saline with I.V Set 100ml	1,600
26	Inj.5% Dextrose Saline 1000ml With Set	2,000
27	Inj.Chloropheneramine	20,000
28	Inj. Cefetixime 500mg	300
29	Inj.Ciproflaxacine With I.V Set	13,000
30	Inj.Ranitidine	18,000
31	Inj.KCL	875
32	Inj.Anti Rabies Vaccine	200
33	Inj.Anti Snake Venum	40

Store Keeper Teaching Hospital D.G.Khan

MEDICAL SUPERINTENDENT TEACHING HOSPITAL DERA GHAZI KHAN

Pharmacist Teaching Hospital D.G.Khan

SURGICAL/DISPOSABLE STOCK POSITION AT TEACHING HOSPITAL DERA GHAZI KHAN

SR.NO	NAME OF ITEM SURGICALS/DISPOSABLES	STOCK POSITION
1	Dialyzer Set	100
2	Blood Lines	200
3	Inj.Epokine 4000Iu	150
4	Concentrated Solution	730
5	Citrostril Solution	6
6	Fistula Needle 17GA	250
7	Fistula Needle 17GV	250
8	I.V Canulla 24G (With Stoper)	500
9	I.V Set	1,500
10	Sticking Pluster 1.5"	100
11	I.V Branula 24G	4,800
12	Pyodine 450ml	1,930
13	Surgical Bandage 4"	400
14	Disposable Syringe 20cc	6,620
15	Disposable Syringe 10cc	4,000
16	Urine Bag	2,450
17	N.G Tube No.16	1,480
18	Folyes Catheter No.16	2,900
19	I.V Branula 20G	4,100
20	I.V Buret 100ml	2,700
21	Disposable Syringe 60cc	2,000
22	Cotton Wool 500gm	450
23	I.V Branula 18G	2,000
24	Forane 100ml	10
25	Gauze Roll	25

Store Keeper Teaching Hospital D.G.Khan

MEDICAL SUPERINTENDENT TEACHING HOSPITAL DERA GHAZI KHAN

Pharmacist Teaching Hospital D.G.Khan

SHEIKH ZAYED MEDICAL COLLEGE/HOSPITAL, RAHIM YAR KHAN.

Dr. Tasneem Kamran (Medical Superintendent)

Detail of Stock Position of Surgical Disposable Items (Dated 26-03-2016)

SR NO	NAME OF ITEM	QUANTITY AS ON 26-03-2016	UNIT COST Rs.	TOTAL COST Rs.
DRUGS/MEI	DICINES			
1	Tab. Aspirin 75mg (Ascard)	174980	0.5	87490.00
2	Tab Aspirin 300mg (Disprin)	50000	0.8	40000.00
3	Tab Atenolol 50mg	95100	0.65	61815.00
4	Tab. Amlodipine 10mg (Ampress)	100000	2.15	215000.00
5	Tab. Amlodipine 5mg	280330	0.66	185017.80
6	Tab. Alprazolam 0.5mg (xylepam)	96207	1.3	125069.10
7	Tab. Atorvastatin 20mg	113900	2.67	304113.00
8	Tab. Bromazepam 3mg (Brozap)	341640	1.24	423633.60
9	Tab. Ciprofloxacin 500mg (Ciprosons)	370460	3.65	1352179.00
10	Tab.Clopidogril 75mg (locril)	103636	2.18	225926.48
11	Tab. Captropril (Capoten) 25mg	64050	1.49	95434.50
12	Tab. Clotrimazole (Vaginal)	1660	11.5	19090.00
13	Tab.Cetirizine-2HCL (Ceridal) 10mg	100000	0.38	38000.00
14	Tab.Diclofenac Sodium 50mg	181942	0.32	58221.44
15	Tab.Dexamethasone 0.5mg (dexone)	29240	0.38	11111.20
16	Tab. Glandin E2	3070	223.13	685009.10
17	Tab. Domperidone (Domsave)	200000	1.6	320000.00
18	Tab. Deferasirox 400mg (Asunra)	2610	225	587250.00
19	Tab. Deferasirox 500mg (oderox)	5520	186.66	1030363.20
20	Tab. Deferiprone 500mg	12300	8.1	99630.00
21	Tab. Ferrous Sulphate	200000	0.6	120000.00
22	Cap. Fluoxitine (Galaxy)	27500	3.38	92950.00
23	Tab. Glibenclamide 5mg	163015	0.3	48904.50
24	Tab. Heloperidol (sera) 5mg	48860	0.49	23941.40
25	Tab. Ibuprofen 400mg	297074	1.51	448581.74
26	Tab.Isosorbide Dinitrate 10mg (isdin)	142750	0.8	114200.00
27	Tab. Loratadine 10mg	75800	0.76	57608.00
28	Tab. Metronidazole 400mg	236206	0.95	224395.70
29	Tab.Metformin 500mg (Metfor)	323965	0.89	288328.85
30	Tab. Methyldopa 250mg (Aldomet)	48900	5.4	264060.00
31	Tab. Multi Vimin	500000	0.97	485000.00
32	Tab. Montelukast sodium 10mg (ventulair)	96079	2.45	235393.55
33	Tab. Misoprostol 200 mcg	24160	4.79	115726.40
34	Tab. Nitroglycerin	1560	0.368	574.08
35	Tab. Paracetamol 500mg (vamol)	791345	0.6	474807.00
36	Tab. Procyclidne 5mg (Cyclidine)	36220	0.7	25354.00
37	Tab. Proxiten 20mg (Gerox)	40000	4.15	166000.00
38	Tab. Resparidon (Benzisox)	9874	2.04	20142.96
39	Tab. Rosuvastatin 20mg	50000	8	400000.00
40	Tab. Salbutamol 2mg (Faktolin)	33510	0.34	11393.40

SR NO	NAME OF ITEM	QUANTITY AS ON 26-03-2016	UNIT COST Rs.	TOTAL COST Rs.
41	Tab. Salbutamol 4mg (Bronchilate)	159500	0.7	111650.00
42	Tab. Spironolactone 50mg + Frusemide 20mg	106640	3.49	372173.60
43	Tab. Divalprox Sodium 500mg	146368	3.74	547416.32
44	Tab. Sulphadoxin 500mg + Pyrimethamine 25mg (Fansidar)	10000	4.21	42100.00
45	Cream Betamethasone (Betaderm-N)	3773	28.99	109379.27
46	2% Lignocaine gel (Arocaine)	28583	14	400162.00
47	Polyfex Skin Oint.	13876	40.75	565447.00
48	Polyfex Eye Oint. (Polyfax)	34018	17	578306.00
49	Cream Silver Sulphadiazine 50g (Sentobe)	3285	50	164250.00
50	Solution Salbutamol 0.5% (Bronkal) 20ml	10280	29	298120.00
51	Dexamethasone Eye. Drops (ocudex)	625	0.38	237.50
52	Eye Drops Ciprofloxacin 0.3%, 5ml (Hipro)	10000	24	240000.00
53	Eye Drops Tobramycin 3 %, Dexa 1%, 5ml	6000	25.5	153000.00
54	Foster Inhaler	208	749.7	155937.60
55	Salbutamol Inhaler (Asthavent)	7423	105.61	783943.03
56	Oral Rehydration Salt (ORS) 20G	22730	13.29	302081.70
57	Low Osmolarity Oral Rehydration Salt , (ORS)	10000	5.11	51100.00
58	Kleen Enema	4114	41	168674.00
59	Dettol	2154.5 Ltr	298	642041.00
60	Pyodine Scrub	1599	179	286221.00
61	Pyodine Solution 450ml	1108	165	182820.00
62	Solution Ipratropium Bromide 250mcg/ml, 20ml (Ipneb)	3910	72	281520.00
63	Syp. Aminophyline 120ML (Rescolin)	24200	18.89	457138.00
64	Syp. Ammonium Chloride 60 ml (Resdryl)	56387	15.3	862721.10
65	Syp. Lifcid	15915	19	302385.00
66	Syp. Amoxil 125mg/5ml, 60ml	19237	29.5	567491.50
67	Syp. Cotrimoxazole 50ml	8284	17	140828.00
68	Susp. Cefixime 100mg/5ml, Bottle of 30ml	10000	38	380000.00
69	Susp. Domperidone 5mg/5ml, Bottle of 120ml (Domsave)	6569	20.68	135846.92
70	Susp. Ibuprofen 100mg/5ml 90ml	17653	15	264795.00
71	Syp. Lactulose (Sanlac)	6135	15	92025.00
72	Syp. Metronidazole 200mg/5ml,60ml (Metrolif)	10000	16	160000.00
73	Susp. Mebendazole100mg/5ml, 30ml	400	15	6000.00
74	Syp. Paracetamol 60ml (Lifmol)	18674	14	261436.00
75	Syp. Sodium Acid Citrate 120ml(Citralka)	7800	26.47	206466.00
76	Syp. Salbutamol 60ml (Faktolin)	8156		89308.20
77	Syp. Divalprox Sodium 60ml	2710	34.68	93982.80
78	Syp. Promethazine (Avinol) 120ml	2068	19.93	41215.24
79	Syp. Pheniramine Maleate 15mg/5ml, 60ml	9400	13.95	131130.00
80	Lignocaine Solution 4% vial of 50ml	300	49.16	14748.00
81	Cap. Amoxil 500mg	341719	3.89	1329286.91
82	Cap. Cephradine 500mg	46200	7.25	334950.00
83	Cap. Omeprazole 40mg (Capzol)	223567	1.74	389006.58
84	Cap. Transamine 500mg	46700	6.75	315225.00
85	Inj. Atrelex 2.5ml	4412	82	361784.00
86	Inj. Atropine Sulphate	10571	2.6	27484.60

SR NO	NAME OF ITEM	QUANTITY AS ON 26-03-2016	UNIT COST Rs.	TOTAL COST Rs.
87	ARV (Rabipur) 1ml	880	500	440000.00
88	ASV 10ml	118	1200	141600.00
89	Inj. Tetnus Toxide 0.5ml	9890	34.97	345853.30
90	Inj. Bupivecaine Spinal 2ml (sensocain spinal)	6750	24.5	165375.00
91	Inj. Cefotaxime Sodium 1G	69735	36.89	2572524.15
92	Inj. Ceftrixone 1G	50000	33.5	1675000.00
93	Inj. Ceftrixone 250mg	7990	16.88	134871.20
94	Inj. Ciprofloxacine 100ml + Iv set	25030	38.5	963655.00
95	Inj. Diazepam 10mg/2ml	7550	31.49	237749.50
96	Inj. Dicloran 75mg	120820	3	362460.00
97	Inj. Dobutamine 5ml	6500	81.9	532350.00
98	Inj.Dopamine 200mg/5ml	5933	54.5	323348.50
99	Inj.Dexamethasone 4mg/ml	90241	6.47	583859.27
100	Inj. 10%Dextrose water 1000ml	10429	56.89	593305.81
101	Inj. 5% Dextrose water 1000ml	13319	48.29	643174.51
102	Inj. 5% Dextrose water 500ml	2646	42.35	112058.10
103	Inj. Sodium Valporate 500mg / 5ml	4862	69.7	338881.40
104	Inj. Erythropoiten 4000iu	4932	283	1395756.00
105	Inj. Fondaparinux Sodium 2.5mg/0.5ml (Arixtra)	5335	332.78	1775381.30
106	Inf. Gelofusion	1187	254	301498.00
107	Inj. Hydrocartison 250mg	28791	88.5	2548003.50
108	Inj. Hydrocartison 100mg	5430	59.77	324551.10
109	Inj. Heparin 5ml	2304	295	679680.00
110	Inj. Ultravist 50ml	422	942.66	397802.52
111	Inj. Ultravist 100ml	210	1499	314790.00
112	Isoflurane 100ml	288	1285	370080.00
113	Inj. Insulin R	579	232	134328.00
114	Inj. Insulin 70/30	19427	232	4507064.00
115	lnj Imipenem + cilastatin 500mg/ 200ml	1978	490	969220.00
116	Inj. Isosorbide Dinitrate 10ml	3076	103	316828.00
117	Inj. Ketorolac Trometamol 1 ml	63027	11.97	754433.19
118	Inj. Lignocaine 2% 10 ml	15475	9.41	145619.75
119	Inj. Lignocaine 2% with Adernaline 10 ml	3015	15.84	47757.60
120	Inj. Midazolam	12540	18.5	231990.00
121	Inj. Metoclopramide 10mg/ 2ml	97360	4.25	413780.00
122	Inj. Metronidazole 100ml +Iv set	44158	34.48	1522567.84
123	Inj. Morphine	877	20	17540.00
124	Inj. Mannitol 500ml	12000	81.25	975000.00
125	Neo Sitgma 2.5	4580	8.79	40258.20
126	Inj. Nalaxone 0.4mg/ml	1038	93	96534.00
120	Inj. Nalbuphin 10mg	6540	17.65	115431.00
127	Inj. Normal Saline 1000ml	9017	39.2	353466.40
120	Inj. Normal Saline 1000ml(Dialysis)	1600	39.2	62720.00
129	Inj. Oxytocin 5 i.u.	32170	6.3	202671.00
130	Inj. Oxyteen 5 htt: Inj. Omeprazole 40mg+D/W	22952	26.42	606391.84
1.51	Inj. Ondeprazore 40hrg+D/ w Inj. Ondansetron 2mg/ml, 4ml Amp.	900		85500.00

SR NO	NAME OF ITEM	QUANTITY AS ON 26-03-2016	UNIT COST Rs.	TOTAL COST Rs.
133	Inj. Propofol 20ml	1442	201	289842.00
134	Inj. Provas	14449	49.39	713636.11
135	Inj. Plabolyt M 1000ml(Medilyte m)	27346	50.95	1393278.70
136	Inj. Plabolyt M 500ml	21217	40.5	859288.50
137	Inj. Pralidoxime Sodium 10ml	2210	125	276250.00
138	Inj. Ranitidine 2ml (Nulcer)	87932	7.9	694662.80
139	Inj. Ringer Lactate 1000ml	15004	42.21	633318.84
140	Inj. Ringer Lactate 500ml	10764	33.39	359409.96
141	Inj. Suxamethonium	4115	21.83	89830.45
142	Inj. Streptokinase	952	3550	3379600.00
143	Inj.Sevorane 250ml	195	7740	1509300.00
144	Inj. Octreotide Acetate 0.1mg/ml (Asterotide)	2000	221	442000.00
145	Inj. Transamic Acid 500mg	36180	12	434160.00
146	Inj. Terlipressin	342	469	160398.00
147	Inj. Norepine 8mg, 4ml	1560	170	265200.00
148	Inj. Pheniramine	34100	3.38	115258.00
149	Inj. 0.9% Normal Saline 100ml	9336	36.91	344591.76
150	Inj. Vancomycin 1G	1590	500	795000.00
150	Inj. Pipercillin Sodium 2.25mg + Tazobectum	6500	290	1885000.00
151	Total Medicine Amount	0300	270	67496282.97
Surgical Di	isposable Items			07490202.97
	•	(07(149	025124.00
	Absorbent Cotton Wool (BPC) 500gm	6276	-	935124.00
2	Absorbent Guaze (BPC) Cloth (100cm x 30meter)	57070	11.44	652880.80
3	Adhesive Drape Dressing large	6829	61.37	419095.73
4	Adhesive Drape Dressing medium	785	50.75	39838.75
5	Adhesive Drape Dressing small	276	33.25	9177.00
6	Adhesive Zinc Oxide (ZnO) Plaster B.P.C. Spool of 7.5 cm x 9 meter	3246	270	876420.00
7	Autoclaving Tape (3M USA)	34	760.00	25840.00
8	BabyCord Clamp	14750	3.90	57525.00
9	Bandage Plaster of Paris 15cm X 2.7 meter	15974	62.5	998375.00
10	Bandage Plaster of Paris 10cm X 2.7 meter	10620	47	499140.00
11	Black Silk Braided Size 1, with curved cutting needle 25-30mm, USP / Eu.Ph.	707	875	618625.00
12	Black Silk Braided Size 2/0, 1/2 Circle RB 28-35mm USP / Eu.Ph.	404	820	331280.00
13	Black Silk Size 3/0, 20mm curved cutting needle	597	490	292530.00
14	Black Silk Size 4/0, Curved Cutting 25mm	580	559.92	324753.60
15	Blood Bag Size 500ml (Govt. Contract)	400	127	50800.00
16	Blood Transfusion Set (Govt. Contract)	537	29	15573.00
18	C.T.G. Machine Roll Model BF-12 AB Medical SA Spain	220	550.00	121000.00
19	C.T.G. Machine Roll Model (Corometrics AAO/CAO 4305, Sonomed code: CO15290/1502) AB Medical SA Spain	50	550.00	27500.00
20	Catgut Chromic Size 1,1/2 Circle RB 40mm USP/Eu. Ph.	1297	1140	1478580.00
20	Catgut Chromic Size 2/0, 1/2 Circle RB 30mm/31mm USP/Eu. Ph.	182.2	1140	207708.00
21	Central Venous Pressure (CVP) Line (Double Lumen) with seldinger	419	2000	838000.00
23	wire Size 7.0 Fr - 12.0 Fr (Reg) Central Venous Pressure (CVP) Line (Single Lumen) with seldinger	117	1300	152100.00
23	wire Size 2.7Fr-9.6Fr (Reg) Colostomy Bags Single Piece System with Tail Closure / Clamp,	11/	1500	152100.00
24	Colostomy Bags Single Piece System with Tail Closure / Clamp, Convatec	743	300.00	222900.00

SR NO	NAME OF ITEM	QUANTITY AS ON 26-03-2016	UNIT COST Rs.	TOTAL COST Rs.
25	Cotton Bandage BPC 10cm X 6m	50000	20.47	1023500.00
26	Cotton Bandage BPC 15cm X 6meter	20000	30.47	609400.00
27	Cotton Bandage BPC 6.5cm X 6meter	25464	12.87	327721.68
28	Cotton Crepe bandage B.P.C. 10cm x 4.5 m - Stretched	18338	33.98	623125.24
29	Cotton Crepe bandage B.P.C. 15cm x 4.5 m - Stretched	3319	44.98	149288.62
30	CTG Roll FM 500	6	570.00	3420.00
31	Disinfectant Solution (Ready to use) for hands	101	739.00	74639.00
32	Disinfectant / Sterlization Solution for instruments / equipment (rate should be mentioned per liter after dilution according to litrature), Intra Health Germany	158	4,400.00	695200.00
33	Disinfectant Solution (Ready to use) for surface	42	1,400.00	58800.00
34	Disposable Auto Suture Skin Stapler (with remover FOC) Advan China	243	440.00	106920.00
35	Disposable Caps All Sizes, Nadeem China	8200	2.00	16400.00
36	Disposable Chest Electrode (Adult Size)	90750	5.40	490050.00
37	Disposable Chest Tube Strelized with radio-opaque line 18,22,26,30 & 32	236	145.00	34220.00
38	Disposable Face Mask with Earloop , Nadeem China	16250	2.10	34125.00
39	Disposable Face Mask N-95	40	195.00	7800.00
40	Disposable Insuline Syringe 1cc fixed needle (100 units / ml) (Blister Pack) (Reg.)	9135	5.41	49420.35
41	Disposable Shoe Cover	3600	2.25	8100.00
42	Disposable Syringe 10cc with Needle (Blister Pack) (Reg.)	177524	5.98	1061593.52
43	Disposable Syringe 20cc with Needle (Blister Pack) (Reg.)	36830	10.18	374929.40
44	Disposable Syringe 5cc with Needle (Blister Pack) (Reg.)	656000	2.86	1876160.00
45	Disposable Syringe 60cc with Nozzal Feeding (Blister Pack) (Reg.)	15428	20.23	312108.44
46	Empty Plastic Bottles 100ml	45000	3.85	173250.00
47	ECG Gel Per Kg with applicator, Nozzel Bottle (Aqua Plus) 5 Kg Can	152	340.00	51680.00
48	ECG Printing Paper Roll Single Channel (Lessa 50mm) AB Medical Group S.A Spain AB	166	46.00	7636.00
49	ECG Printing Paper Roll Three Chennal, AB Medical SA Spain	965	71.00	68515.00
50	ECG Z Fold (Lessa Z-Pad) AB Medical Group S.A Spain) AB Medical SA Spain	103	420.00	43260.00
51	ECG Z-Fold paper 110x140	674	615.00	414510.00
52	Endotracheal Tube Cuffed Sizes, 7 (Chilicom Medical Usmanco)	959	68.00	65212.00
53	Endotracheal Tube Cuffed Sizes, 7.5 (Chilicom Medical Usmanco)	1810	68.00	123080.00
54	Endotracheal Tube Cuffed Sizes, 6.5 (Chilicom Medical Usmanco)	1877	68.00	127636.00
55	Endotracheal Tube Cuffed Sizes,6 (Chilicom Medical Usmanco)	856	68.00	58208.00
56	Endotracheal Tube Cuffed Sizes5.5 (Chilicom Medical Usmanco)	1040	68.00	70720.00
57	Endotracheal Tube Non Cuffed Sizes 2.5 (Chilicom Medical Usmanco)	735	59.00	43365.00
58	Endotracheal Tube Non Cuffed Sizes 3 (Chilicom Medical Usmanco)	976	58.00	56608.00
59	Endotracheal Tube Non Cuffed Sizes 3.5 (Chilicom Medical Usmanco)	780	58.00	45240.00
60	Endotracheal Tube Non Cuffed Sizes 4 (Chilicom Medical Usmanco)	920	58.00	53360.00
61	Endotracheal Tube Non Cuffed Sizes 5 (Chilicom Medical Usmanco)	375	58.00	21750.00
62	Endotracheal Tube Non Cuffed Sizes4.5 (Chilicom Medical Usmanco)	430	58.00	24940.00

SR NO	NAME OF ITEM	QUANTITY AS ON 26-03-2016	UNIT COST Rs.	TOTAL COST Rs.
63	Examination Gloves Non Sterile, Rubber Latex (Pack of 100 Nos) Large Size,	462	270.30	124878.60
64	Examination Gloves Non Sterile, Rubber Latex (Pack of 100 Nos) Medium Size,	1387	270.30	374906.10
65	Examination Gloves Non Sterile, Rubber Latex (Pack of 100 Nos) Medium Size,	965	270.30	260839.50
66	Foley's Ballon Catheter Two Way Size 6 (Reg.)	470	51	23970.00
67	Foley's Ballon Catheter Two Way Size 8 (Reg.)	410	51	20910.00
68	Foley's Ballon Catheter Two Way Size10 (Reg.)	342	51	17442.00
69	Foley's Ballon Catheter Two Way Size12 (Reg.)	472	40.9	19304.80
70	Foley's Ballon Catheter Two Way Size14 (Reg.)	360	40.9	14724.00
71	Foley's Ballon Catheter Two Way Size16 (Reg.)	20342	40.9	831987.80
72	Glycerine Pure Per Kg. Western chemical	133	147.00	19551.00
73	Haemostatic Absorbable Gelatin Sponge 7 x 5 x 1cm , Mascia Italy	240	185.00	44400.00
74	Hydrogen Per Oxide Sol. 450ml	700	32	22400.00
75	IV Burette 100ml (Reg)	59700	53.99	3223203.00
76	IV Cannula with Port & Wings No. 18 (Reg)	11745	30.52	358457.40
77	IV Cannula with Port & Wings No. 20 (Reg)	42130	30.52	1285807.60
78	IV Cannula with Port & Wings No. 22 (Reg)	101160	22.9	2316564.00
79	IV Cannula with Port & Wings No. 24 (Reg)	109560	22.98	2517688.80
80	Nasogastric Tube Size 10, Classic China	2025	8.75	17718.75
81	Nasogastric Tube Size 12, Classic China	1120	14	15680.00
82	Nasogastric Tube Size 14, Classic China	500	13.5	6750.00
83	Nasogastric Tube Size 16, Classic China	11335	13.5	153022.50
84	Nasogastric Tube Size 4, Classic China	1100	6.7	7370.00
85	Nasogastric Tube Size 6, Classic China	11888	6.7	79649.60
86	Nasogastric Tube Size 8, Classic China	29925	6.7	200497.50
87	Nelton Drain Catheter No. 10, Classic China	2495	8	19960.00
88	Nelton Drain Catheter No. 26, Classic China	1120	14.75	16520.00
89	Nelton Drain Catheter No. 28, Classic China	180	14.75	2655.00
90	Nelton Drain Catheter No. 30, Classic China	14920	14.75	220070.00
92	Nelton Drain Catheter No. 8, Classic China	75	8	600.00
93	Nelton Drain Catheter No.12, Classic China	4970	8	39760.00
94	Nelton Drain Catheter No.14, Classic China	1785	8	14280.00
95	Nelton Drain Catheter No.16, Classic China	5821	8	46568.00
96	Nelton Drain Catheter No.18, Classic China	1060	8	8480.00
97	Nelton Drain Catheter No.20, Classic China	245	9.6	2352.00
98	Nelton Drain Catheter No.22, Classic China	1008	9.6	9676.80
99	Nelton Drain Catheter No.24, Classic China	620	9.6	5952.00
100	Nylon No. 10/0 Spatula Curved Single Needle 6.5-8.5mm USP / Eu.Ph.	51	5569	284019.00
101	Oral Airways 0	90	26.9	2421.00
104	Oral Airways 2	195	26.9	5245.50
105	Oral Airways 3	65	26.9	1748.50
106	Oral Airways 4	50	26.9	1345.00
107	Oral Airways 5	313	26.9	8419.70
108	Oxygen Mask	490	42	20580.00
109	Oxygen Nasal Canula with double prongs	3110	50	155500.00

SR NO	NAME OF ITEM	QUANTITY AS ON 26-03-2016	UNIT COST Rs.	TOTAL COST Rs.
110	Paraffin Liquid 400ml	2034	118.48	240988.32
111	Poly propylene No. 3/0, 1/2 Circle Round Body Cutting Needle 13- 25mm, USP / Eu.Ph.	42	1900	79800.00
112	Poly Sling (Adult)	110	134	14740.00
114	Polyglactin / Polyglicolic Acid Size 1, 1/2 Circle RB 30-35mm USP / Eu.Ph.	399	1925	768075.00
115	Polyglactin / Polyglicolic Acid Size 1, 1/2 Circle RB 40mm USP / Eu.Ph.	300	2010	603000.00
116	Polyglactin / Polyglicolic Acid Size 2/0 1/2 Circle RB /30mm/31mm/35mm USP / Eu.Ph.	257	1800	462600.00
117	Polyglactin / Polyglicolic AcidSize 3/0 1/2 Circle RB 19mm/22mm/30mm/31mm	169	1449.66	244992.54
118	Polyglactin / Polyglicolic Acid Size 4/0, 1/2 Circle RB 20-31mm USP / Eu. Ph. (Hohnson & Johnson)	75	1452	108900.00
119	Polypropylene Size 1, 1/2 Circle RB 40mm USP / Eu.Ph.	525	1343	705075.00
120	Polypropylene Size 2/0, 1/2 Circle RB 25-31mm USP / Eu.Ph.	554	1800	997200.00
121	Polypropylene Size 4/0, Curved Cutting 16mm/18mm	40	1704	68160.00
122	Poly propylene No. 7/0 (Round body curved double needle)	33	3935	129855.00
123	Polythene Gloves Pack of 100 Nos. Standard Size	6371	26.94	171634.74
125	Priker/Lancet Neddle	77600	0.69	53544.00
126	Proximate Linear Cutter 55mm, (J&J)	2	18000	36000.00
127	Proximate Linear Cutter 75mm (J&J)	17	18000	306000.00
128	Proximate Linear Cutter Catridge 55mm, (J&J)	20	4050	81000.00
129	Proximate Linear Cutter Catridge 75mm, (J&J)	115	6000	690000.00
131	Redivac Suction Drains with Tubes No.18, Kawa Intra Health	221	198	43758.00
132	Soda Lime 4.5Kg	19	2600	49400.00
133	Skin Traction (for Adult)	660	175	115500.00
134	Skin Traction (for Children)	437	192	83904.00
136	Spinal Needle 25	7222	101.29	731516.38
137	Spinal Needle 27	5000	101.29	506450.00
138	Spirit Methylated per liter (without drum) Local	2963.5	78	231153.00
130	Strigage 3M	38	43	1634.00
140	Strips for Blood Sugar with free of cost Glucometer	133300	7.3	973090.00
140	Surgical Blade No. 10	150	20.5	3075.00
141	Surgical Blade No. 11	7140	20.5	146370.00
142	Surgical Blade No. 15	100	20.5	2050.00
143	Surgical Blade No. 20	1600	15.95	25520.00
	Surgical Blace No. 20 Surgical Gloves Size 6.5 Sterile			
146		19500	22.24	433680.00
147	Surgical Gloves Size 7 Sterile	20865	22.24	464037.60
148	Surgical Gloves Size 7.5, Sterile	1956	22.24	43501.44
149	Surgical Gloves Size 8, Sterile	3200	22.24	71168.00
150	Thermometer Medical , Medical China	296	30.00	8880.00
151	Three way stopper without extension, Intra Health	432	24	10368.00
152	Tracheostomy Tube with Introducers No. 4	38	375	14250.00
153	Tracheostomy Tube with Introducers No. 6.5	279	365	101835.00
154	Tracheostomy Tube with Introducers No. 7	100	365	36500.00
155	Tracheostomy Tube with Introducers No. 7.5	283	365	103295.00
156	Tracheostomy Tube with Introducers No. 8	50	365	18250.00
157	Transpore Tape	1684	288	484992.00
158	Temeprary pace maker leads	7	4100	28700.00

SR NO	NAME OF ITEM	QUANTITY AS ON 26-03-2016	UNIT COST Rs.	TOTAL COST Rs.	
159	Underwater seal with Chest Tube Size 32 Fr	200	710	142000.00	
160	under water seal bottle 32 Fr	100	710	71000.00	
162	Ultrasound type I	161	650	104650.00	
163	Ultrasound type II	270	1400	378000.00	
164	Urine Bag for Adult	52371	17.5	916492.50	
	Total Amount Surgical Items Rs.				
	Grand Total of Medicines & Surgical Items Rs.				

Page 1 of 5

CURF	RENT STOCK POSITION DRUGS/MEDICINES IN MA	IN DRUG STO	RE NISHTAR H	OSPITAL MULTAN
		01		
Sr.	Name of Items	Qty. as on 26-03-2016	Unit Cost	Total Amount Rs
51.	Name of items	26-03-2016	Unit Cost	Total Amount RS
	Infusion Dextrose 25%, Amp. Of 20ml / 25ml.	173070		
1		21150	6.5	1124955
	Infusion Dextrose 10% in Water, Bott. of 1000ml Infusion Dextrose 5% in water, bott. of 1000ml	<u>31150</u> 5882		1277150 193517.8
3	Infusion Dextrose 5% in water, bott. of Totolini Infusion Dextrose 5% with Normal Saline, bott. of	4568		195517.0
4	1000ml	+500	35	159880
	Infusion Mannitol 20%, bott. of 500ml	38941	69.75	
	Infusion Normal Saline, bott. of 100ml	67700		
7	Infusion Normal Saline, bott. of 1000ml	135077	31.89	4307605.53
	Infusion Potassium Chloride 1.5G+Calcium	44345		
	Chloride 2H2O 0.22G+Sod. Chloride 0.216G Sod.			
	Acetate 3H2O 0.313G+ Anydrous Dextrose 5G			(00000-
8	bottle of 500ml.	00050	29	1286005
	Infusion Potassium Chloride 1.5G+Calcium	88258		
	Chloride 2H2O 0.22G+Sod. Chloride 0.216G Sod. Acetate 3H2O 0.313G+ Anydrous Dextrose 5G			
g	bottle of 1000ml.		39.45	3481778.1
	Infusion Ringer Solution, bott. of 1000ml	151558		
	Infusion Ringer's Lactated/ Hartman's	18309		
	Solution/Compound Sod. Lactate I/V Infusion			
11	500ml		25	457725
	Inj. Amoxycillin + Clavulanic Acid 1.2gm With	119234		
10	Water for Injection (individual pack with leaflet)			
12		0.66470	85	10134890
13	Cap. Amoxycillin 500mg Inj. Ceftriaxone 1gm with water for injection	966479		2996084.9
14	(individual pack with leaflet)	300980	47.51	14299559.8
17	Inj. Cefoperazone +Sulbactam 2gm with water for	10368		14200000.0
15	injection (individual pack with leaflet)	10200	69	715392
	Inj. Amikacin 500mg	58800		
16			42	2469600
	Infusion Ciprofloxacin 200mg/100ml (individual	33830		
17	pack with leaflet)		29.25	989527.5
	Infusion Levofloxacin 500mg/100ml. (individual	12400		
	pack with leaflet)	107050	29.53	366172
19	Tab. Ciprofloxacin 500mg	187050		626617.5
20	Infusion Metronidazole 500mg/100ml, vial of 100ml. +Hanger (individual pack with leaflet)	113650	25.25	2869662.5
	Tab. Metronidazole 400mg.	308261	0.93	
	Inj. Imipenam +Cilastin 500mg with water for	24500		
22	injection (individual pack with leaflet)	2.200	571	13989500
	Infusion Linezolid Infusion 200mg/100ml,	1294		
	Inhaler Salbutamol 100mcg	2671	104	277784
	Solution Salbutamol for Nebulization bottle of 20ml	9680		
25			29	280720

Sr.	Name of Items	Qty. as on 26-03-2016	Unit Cost	Total Amount Rs
	Syp. Aminophyline +Diphenhydramine	46496		
26	+Ammonium Chloride bottle of 120ml		14	650944
27	Syp. Salbutamol	10056	13	130728
28	Tab. Amlodipine Besylate 10mg	100000	0.9	90000
	Tab. Aspirin (Enteric Coated) 75mg	338974		
29			0.5	169487
	Tab. Clopidogrel 75mg	64640	1.99	128633.6
	Tab. Losartan Potassium 50mg	182454	1.39	253611.06
	Inj. Heparin 5000 lU/ml	25742	295	7593890
	Inj. Tranexamic Acid 250mg	20	9.75	195
	Cap. Tranexamic Acid 500mg	1744	3.75	6540
	Inj. Omeprazole 40mg/amp Water for Injection	97866		
35	(individual pack with leaflet)		24.77	2424140.82
	Inj. Ranitidine 50mg	67688	3.31	224047.28
	Cap. Esomperazole 40mg	346778	2.07	717830.46
	Inj. Dimenhydrinate 25mg	44500	1.56	69420
	Tab. Domperidone 10mg	136229	0.45	61303.05
	Inj. Metoclopramide HCl 10mg	6470	2	12940
41	Tab. Mebeverine HCl 135mg	189490	3	568470
42	Tab. Glibenclamide 5mg.	217400	0.54	117396
43	Tab. Metformin 500mg.	236927	0.83	196649.41
	Inj. Oxytocin 5IU/ml	329000	5.5	1809500
45	Tab. Alprazolam 0.5mg	99393	1.89	187852.77
	Tab. Escitalopram 10mg	17380	2.5	43450
47	Cap. Fluoxetin HCl 20mg	50000	2.78	139000
48	Chloramphenicol 0.5%,	2	11.02	22.04
49	Ciprofloxacin 0.3%	3013	24.15	72763.95
50	Dexamethasone (0.1%) +Tobramycine $(0.3\%)/$	2749	25.45	69962.05
51	Dorzolamide HCl 2%+Timolol Maleate 0.5%	699	121.25	84753.75
52	Moxifloxacin 0.5% Eye Drop	2989	47.25	141230.25
53	Tobramycin Sulphate (0.3%)	378	24.16	9132.48
	Betamethasone 17-Valerate 0.1%+Neomycin	10071		
	Sulphate 0.5% Cream/Oint.(Skin) 15gm		16	161136
	Fusidic Acid (2%) Cream Tube 15gm	9778	48.9	478144.2
	Permethrin (5%w/w) Cream 30gm	6004	25.98	155983.92
	Polymixin B-Sulphate B.P 10000 Units+ Zinc	7756		
	Bacitracin B.P 500 Units Tube of 20gm		36.76	285110.56
	Clotrimazole +1% Hydrocortisone 10gm	3898	35	136430
	Inj. Cisplatinum 10mg/50mg/100mg	1200	724	868800
	Inj. Doxorubicin HCL 10mg	2000	511.363	1022726
	Inj. Doxorubicin HCL 50mg	1414	948	1340472
	Inj. Gemcitabine 1000mg	570	2345	1336650
	Inj. Oxaliplatin 50mg	287	1490	427630
	Inj. Oxaliplatin 100mg	260	2980	774800
	Inj. Paclitaxel 150mg with Glass bottle & I.V Set.	380	2598.72	987513.6
	Inj. Paclitaxel 300mg with Glass bottle & I.V Set.	380	5499.03	2089631.4
	Inj. Zolidronic Acid	259	4150	1074850
	Inj. Atracurium Besylate 25mg/2.5ml amp	45890	82	3762980
	Inj. Midazolam 5mg/5ml amp. of 5ml	25700	28	719600
70	Inj. Propofol 200mg/20ml amp	13755	201	2764755
71	Inj. Bupivacaine HCL 0.75% in Dextrose 8.25%,	7600	00	174900
11	amp. of 2ml		23	174800

Sr.	Name of Items	Qty. as on 26-03-2016	Unit Cost	Total Amount Rs.
72	Lignocaine 2%, Gel. Tube of 15gm	30618	14	428652
	Inj. Diclofenac Sodium 75mg/3ml amp. of 3ml	152093	2.2	334604.6
74	Inj. Tramadol HCl 100mg/amp	20985	7.05	147944.25
75	Tab. Diclofenac Potassium 50mg	8804	0.44	3873.76
76	Tab. Diclofenac Sodium 50mg.	745758	0.35	261015.3
77	Syp. Ibuprofen 100mg/5ml	18651	18	335718
	Infusion Paracetamol 1gm/100ml with individual	22950		
	Pack & leaflet		49.39	1133500.5
79	Inj. Nalbuphine 10mg/ml amp. of 1ml	63400	17.8	1128520
80	Inj. Dexamethasone Sodium Phosphate 4mg/1ml	252000	2.88	725760
	Inj. Hydrocortisone Sodium Succinate 250mg with	64463		
	water for injection (individual pack with leaflet)			
81			84.79	5465817.77
	Tab. Deferasirox 100mg	1000	40	40000
	Cap. Fluconazole 150mg	2962	10	29620
84	Inj. Epoetin alfa 2000IU	26448	128	3385344
	Inj. Iron Sucrose 20mg/ml amp. of 5ml	4500	39	175500
	Tab. Calcium + Vitamin D	99796	2.33	232524.68
	Tab. Vit. B. Complex	95938	0.2	19187.6
88	Syp. Vit.B Complex,	10000	14	140000
	Syp. Zinc Sulphate Monohydrate 10mg/5ml bottle	10509		
	of 60ml		25	262725
	Tab. Cetirizine Hydrochloride 10mg	180463	0.48	86622.24
	Syp. Cetirizine dihydrochloride 5mg/5ml	5707	16	91312
	Inj. Diagnostic Contrast Media for MRI 15ml	600	957.8	574680
	Tab. Albendazole 100mg,200mg.	3490	3.5	12215
	Syp. Lactulose- 3.35G / 5ml	9228	95.5	881274
	Inj. Octreotide Acetate 0.1mg	45640	219.08	9998811.2
	Inj. Plasma Substitute 3.5%/4%/6%.	38314	244	9348616
	Tab. Bromocriptine 2.5mg	990	8.33	8246.7
	Tab. Clozapine 100mg	17550	12.6	221130
	Tab. Terbinafin 125mg	5000	13	65000
	Tab. Letrozole 2.5mg	50	120	6000
	Tab. Anastrozole 1mg	500	76.5	38250
	Tab. Mecobalamin 500mcg	16720	0.6	10032
103			1	0
101	Inj. Piperacillin 4gm + Tazobactam 0.5gm vial of	40264		40005000
104	4.5gm. (individual pack with leaflet)	27000	399	16065336
105	Inj. Cefoperazone +Sulbactam 1gm with water for	37000	74.0	0774000
	injection (individual pack with leaflet)	17000	74.9	2771300
106	Inj. Gentamycin 80mg	17000	6	102000
407	Inj. Meropenem 500mg with water for injection	12500	E40	0407500
107	(individual pack with leaflet)	00511	519	6487500
400	Inj. Vancomycin 500mg with water for injection	23711	040	5400000
	(individual pack with leaflet)	2022	218	5168998
	Inj. Terbutaline Sulphate 0.5mg	3832	10.4	39852.8
	Inj. Noradrenaline 4mg	5030	142	714260
	Inj. Streptokinase 1.5miu.	267	3750	1001250
	Tab. Atenolol 100mg	189826	1.18	223994.68
	Tab. Captopril 25mg	115723	6.1895	716267.5085
	Tab. Methyldopa 250mg.	10469	5.42	56741.98
	Cap. Glyceryl Trinitrate 2.6mg	599379	1.86	1114844.94
	Tab. Spironolcatone 50mg+Frusemide 20mg.	17535	3.55	62249.25
-117	Inj. Enoxaprin Sod. 60mg	3157	351.9	1110948.3

Sr.	Name of Items	Qty. as on 26-03-2016	Unit Cost	Total Amount Rs
	Tab. Dimenhydrinate 50mg	44500	0.85	
	Syp. Domperidone	3559	20.52	73030.68
	Inj. Hydrated Phloroglucinol 40mg+Trimethyl-	7800		
120	Phloroglucinol0.04mg/amp of 4ml		13.334	104005.2
	Human Insulin Mixture (70% NPH Human Insulin	70269		
121	+30% Regular)Vial of 10ml		245	17215905
122	Human Insulin Regular 100 IU/ml Vial of 10ml	258	245	63210
	Tab. Prostaglandin E2 (Dinoprostone 3mg)	326	599.431	195414.506
	Tab. Carbamazepine 200mg.	156649	2.1	328962.9
	Tab. Divalproex Sod. 250mg.	47026	4.0016	188179.2416
	Tab. Gabapentin 300mg	9919	4.8	47611.2
	Inj. Diazepam I.V. 10mg/2ml	9500	8.25	78375
	Tab. Haloperidol 5mg	21727	0.57	12384.39
	Tab. Lithium Carbonate 400mg.	10290	1.98	20374.2
	Tab. Olanzapine 10mg	20015	4.78	
	Tab. Procyclidine 5mg.	223734	0.57	127528.38
	Pilocarpine 2%,	102	61.96	
	Inj. Epirubicin 10mg/50mg	140	2626.636	
	Inj. Etoposide 100mg/5ml	1305	340	443700
	Inj. Leuprolide 7.75mg	30	10000	300000
	Inj. Bleomycin 15mg	350	1040	364000
	Tab. Bicalutamide 50mg.	5318	115	
	Inj. Glycopyrrolate 0.2mg/ml	3630	13	
	Inj. Isoflurane bottle of 100ml	5194	1285	
	Inj. Suxamethonium Chloride 100mg. amp. of 2ml	7500	21.69	162675
	Tab. Ibuprofen 400mg.	299824	1.5147	454143.4128
	Syp. Mefenamic Acid 50mg/5ml	10002	13 27	130026
	Syp. Paracetamol 250mg/5ml	1028		27756
	Tab. Prednisolone 5mg.	329625	1.136 125	374454
	Inj. Pralidoxime Mesylate 200mg/ml	2500	32.9	312500
	Clotrimazole 2% Vaginal Cream Inj. Tetanus Toxoid 40 IU/0.5ml.	500	34.97	16450 1424328.1
	Inj. Antivenom Sera Vial of 10ml	40730 2398	1495	3585010
	Inj. Potassium Chloride 7.4%, Amp. of 25ml	81044	1435	
	Inj. Sodium Bicarbonate 8.4%. Amp. of 20ml	35300	10.73	388300
	Tab. Pyridoxine 50mg	40446	1.29	52175.34
	Tab. Chlorphenramine Maleate 4mg	359123	0.09	32321.07
	Diagnostic Contrast Media for CT Scan	600		
100	Sodium amidotrizoate 0.1g Meglumine	1537	001100	000001
154	amindotrizoate 0.66g 370mg/ml	1007	182.75	280886.75
	Tab. Artemether 20mg/40mg + Lumefantrine	54440		
155	120mg/240mg		6.125	333445
	Inj. Aminoacids 5%/10%	3814	293	
	Inj.Phenylephrine	3000	34	
	Sol. Beclamethasone	12802	282.3	
	I.V. Set	52695	11.25	
	Tab. Amoxycillin +Clavulanic Acid.	7700	9.46	
	375mg/625mg/1g (individual pack with leaflet)			72842
	Susp. Amoxycillin+Clavulanic Acid	1800	83.38	
	156.25mg,312.5mg/5ml (Individual pack with			
162	spoon & leaflet			150084
	Cap. Cefaxime 400mg	20400	12	
	Tab. Levofloxacin 250mg/500mg	67000	4.75	318250
	Cap./Tab. Doxycycline 100mg	16300	2.09	

Sr.	Name of Items	Qty. as on 26-03-2016	Unit Cost	Total Amount Rs.
0	Susp. Metronidazole 200mg/5ml (individual pack	6760		
166	with spoon +leaflet)	0/00	11.9	100724
	Tab. Bisoprolol 10mg	17500	6	105000
	Tab. Misoprostol 200mcg	18000		108000
	Syp. Sod. Valproate 250mg/5ml bottle of 120ml	523	50.09	26197.07
	Tab. Mefenamic Acid 250mg/500mg.	23500	0.41	9635
	Tab. Paracetamol 500mg.	496396	0.62	307765.52
	Tab./Cap. Tramadol 50mg/SR	5400	3	16200
	Syp. Ferrous Gluconate	2075	50	103750
	O.R.S. Sachet	4700	4.69	22043
175	Tab. Tizanidine 2mg	1960	14.65	28714
176	Tab. Diabenzothiazepine 25mg	19100	3	57300
177	Tab. Thyroxin 50mg	98935	1	98935
178	Tab. Ethambutol HCl 300mg+Rifampicin 150mg+Is	209275	5.603	1172567.825
179	Tab. Amiodarone HCL 100mg	6475	7	45325
180	Tab. Amlodipine Besylate 5mg/10mg	29237	1.45	42393.65
181	Tab./Cap Diltiazem HCI 30mg/60mg (90mg/180mg	11000	5.747	63217
182	Tab. Isosorbide Mononitrate 20mg.	10000	2.1	21000
183	Tab. Enalapril 20mg	28000	2	56000
184	Polymixin-B-Sulphate 10000Units +Zinc Bacitracin	7750	53	410750
185	Syp. Paracetamol 250mg/5ml Pack of 60ml	1025	41.91	42957.75
186	Nystatin 1,00,000 units/ml, (Oral Drops)	2200	38.63	84986
	Tab. Rifampicin 120mg+Isoniazide 60mg+Ethambu	490	7.241	3548.09
188	Cap. Ferrous Sulphate B.P150mg+Ascorbic Acid B.	1215	2.59	3146.85
	Total Amount			223286754.3

Page	1	of	3

RECORD OF PURCHASE OF SURGICAL DISPOSABLE ITEMS 2015-16

T.E No.	Item name	Item/ Firms	Brand/ Manufacturer	Rate/Unit	Total Qty with cushion	Total Purchas
1	Absorbent Cotton Wool 200 gm (BPC)	M/s New Omni Traders	Absorbant cotton wool, Karim Industries	64.97	48875	48875
2	Activated Charcoal 25gm	M/s 3N Lifemed	Lifemed, Pak Made	196.00	978	978
3	Air Way All Sizes	M/s Wasiq Enterprises	Dyan kare / Rayan	13.48	15640	12500
4	Autoclave Tape 19mm x 50 meter	M/s Saru International	HEALTHICON, Jiangxi 3L Medical, China	350.00	20	20
6	K-Wire # 2.5	M/s 3N Lifemed	3N Lifemed, Pak made	30.00	978	978
7	B.P. Blade 11,15,23 Carbon Coated	M/s Omer Health Care	Feather, Japan	23.40	73313	47312
8	B.T IV Set	M/s 3N Lifemed	JMS	120.00	29325	18000
9	Bandage Plaster of Paris 6"	M/s Pakistan Surgical Distributors	Orthoplast, Cotton craft	63.00	48875	48875
10	15cm x 2.7 m Basic Breathing System Disp Ventilator Breathing Circuit	M/s Sind Medical Store	Venti Pro, Taiwan	298.43	978	978
11	Black Silk Braided	Curved Cutting needle No. 1	Curver cutting needle 30/40mm No.1	SARUSILK, Huaian Angel Medical, China	8520	7000
12	Black Silk Braided 2/0, 30 mm 1/2 circle Curved Cutting 75cm	M/s Sind Medical Store	DemeSILK, Demetech corp. USA	71.23	8309	8309
13	Black Silk Braided 1, 40mm 1/2 circle round body 75cm	M/s Sind Medical Store	DemeSILK, Demetech corp. USA	71.23	2542	2542
14	Black Silk Braided, Round Body Needle 2/0	M/s Sameed Enterprises	SMI Belgium	75.83	1173	1173
15	Bleach for HDL 5 liter	M/s 3N Lifemed	Pak Made	735.00	293	60
16	Retendered				0	0
17	Bone Wax 2.5g	M/s Ess & Ess Enterprises	Equiwax, Netherland	194.00	5376	5375
18	Branula with injection port 18,20,22 G	M/s Ess & Ess Enterprises	Vasofix (B.Braun), Malaysia	48.25	439875	417875
19	Branula with wing, 24G	M/s Ess & Ess Enterprises	Introcan (B.Braun), Malaysia	76.25	68425	50000
20	Butterfly Needle # 16,19,22,23,24,25 G	M/s 3N Lifemed	JMS	31.00	29325	29325
21	Cervical Collar, Hard	M/s 3N Lifemed	Blue Bird	150.00	684	684
22	Cervical Collar, Soft	M/s Qadri Healthco	SACO, PAKISTAN	134.00	127	127
23	Cervical Collar, Soft	M/s 3N Lifemed	Philadelphia, U.S.A	1398.00	98	98
24	Chest Electrodes Adult	M/s 3N Lifemed	Life Med ,Intco , China	5.90	63538	63538
25	Chest Tube 32 FR	M/s Cardiac Care	Taiwan, PAHSCO	129.00	489	489
26	Chromic Catgut, No. 0, 1/2 circle round bodied with needle	M/s Sind Medical Store	DemeGUT, Demetech corp. USA	104.08	2444	0
27	Chromic Catgut 1, 40mm 1/2 circle round body 75cm	M/s Sind Medical Store	DemeGUT, Demetech corp. USA	104.08	19550	19550
28	Chromic Catgut 2/0, 30mm 1/2 circle round body 75cm	M/s Sind Medical Store	DemeGUT, Demetech corp. USA	104.08	9775	9775
29	Chromic Catgut 3/0, 25mm 1/2 circle round body 75cm	M/s Sind Medical Store	DemeGUT, Demetech corp. USA	104.08	1173	1164
30	Citric Acid Powder for HDL, 1 kg (pack of	M/s 3N Lifemed	China	400.00	293	175
33	25kg) Cord Clamp	M/s 3N Lifemed	BTS, Pak Made	3.90	23460	23460
34	Cotton Bandage 6.5cm x 6m	M/s New Omni Traders	Cotton bandage,	12.87	92863	80000
	, , , , , , , , , , , , , , , , , , ,		Karim Industries			
35	Crepe Bandage 10cm x 4.5m BPC		Medicrepe, Karim Industries	35.57 48.47	68425 14663	68425 14663
37	Crepe Bandage 15cm x 4.5m BPC Crescent Knife	M/s Mubarak Vision	Medicrepe, Karim Industries Sharpoint, Surgical	600.00	20	20
38	CTG Paper 152mm x 150mm x	M/s Friends Enterprises	specialist, USA Toitu Malaysia	615.00	320	320
39	200 Sh CVP Line Peads Triple Lumen	M/s Ess & Ess Enterprises	Certofix Trio(B.Braun),	3800.00	49	49
	Peads (complete Kit) CVP Line Adult Triple limen		Germany Certofix Trio(B.Braun),			
40	adult (with wire & sculpal)	M/s Ess & Ess Enterprises	Germany Fresenius Diasafe Plus-	2390.00	978	978
42	Diasafe Filter for HDL Diposable Syringe 1ml blister	M/s Fresenius Medical Care	Dialysis Fluid Filter	7350.00	98	98
43	pack 27G (white cap) Diposable Syringe Insulin 1 cc	M/s Noble Pak Traders	AMD, China	4.17	1955	1955
44	blister pack 30/31G Disposable Latex Examination	M/s Hospital Supply corporation	YMS, KDL, PRC Top care, TG medical SDN,	10.00	73313	73313
45	Gloves Box of 100	M/s Ali Medical Store	BHD, Malaysia	309.00	8798	8798
46	Disposable OT Caps Standard size		China	3.40	43988	43988
46	Disposable OT Cap Male	M/s Wasiq Enterprises	China	3.40	87975	43988
47	Disposable OT Shoe Cover Standard size (pair)	M/s Wasiq Enterprises	China	2.70	117300	117300
48	Disposable Syringe with needle 10ml Blister Pack with Leur Lock	M/s Noble Pak Traders	AMD, China	7.50	684250	684250
49	Disposable Syringe with needle 20ml Blister Pack with Leur Lock	M/s Noble Pak Traders	AMD, China	12.50	24438	24438
50	Disposable Syringe with needle 5cc blister pack with Luer lock	M/s Noble Pak Traders	AMD, China	4.67	1564000	1564000
	see onster puer with Eder toek					

T.E No.	Item name	Item/ Firms	Brand/ Manufacturer	Rate/Unit	Total Qty with cushion	Total Purchase
53	Dj Stents All Sizes, Both & one end open 16cm to 28cm	M/s Allmed Solutions	Amecath, Egypt	1780.00	489	370
54	Disposable Syringe with noozle 60ml Blister Pack	M/s Ali Medical Store	Classic china	22.90	24438	24438
55	ECG paper roll All sizes	M/s 3N Lifemed	United, china	370.00	3153	1000
56	Endotracheal Tube with Cuff 3	M/s Ess & Ess Enterprises	Covidien, Thailand	174.00	24438	24438
57	Endotracheal Tube without Cuff 5.5	M/s Ess & Ess Enterprises	Covidien, Thailand	128.00	3910	3910
58	Epidural Set 16, 18G	M/s Ess & Ess Enterprises	Perifix (B.Braun) Malaysia/ Germany/ Smith Medical/Portex	1460.00	293	293
59	Exchange Transfusion sets	M/s Cardiac Care	VYGON CORP. FRANCE	7800.00	20	10
60	External Fixator, AO type all sizes 3.5 schanz screw 5mm, Rods 12, 14, 16, 18"	M/s 3N Liferned	Lifemed, Pak Made	1148.00	176	0
61	Face Mask Tie ON	M/s Wasiq Enterprises	Face mask top fit, China	3.12	97750	97750
62	Foley Catheter three Way # 22	M/s Oriental Sales Corporation	Well Lead, China	325.00	391	391
63	Foley Catheter two Way All Sizes	M/s Omer Health Care	Classic, China	52.80	39100	39100
64	Guide Wire, 0.035 Curved Tip	M/s 3N Lifemed	Able, Guangdong Baihe Medical	380.00	244	0
65	Guide Wire 0.038 Straight Tip	M/s 3N Lifemed	Technology, China Able, Guangdong Baihe Medical Technology, China	380.00	313	313
66	Haemostatic Gelatin Absorbable Sponge standard size	M/s Ess & Ess Enterprises	Equispon/Equispon Fish, Netherlands	218.00	6843	6843
67	HME Filter	M/s Ess & Ess Enterprises	Intersurgical, China/UK	498.00	2933	2933
69	Hydrogen Peroxide for HDL	M/s 3N Lifemed	3N Lifemed, Pakmade	900.00	978	0
70	Incise Theater Drape 15x28	M/s Sameed Enterprises	Opsite,Smith and Nephew	178.50	1725	1725
70	Incise Theater Drape 10x14 cm	M/s Saru International	HEALTHICON, Jiangxi 3L Medical, China	62.00	9775	9775
71	Intra Ocular Lens SA60AT (FOLDABLE) size 16.0 to 30.0	M/s Ali Gohar & Company	Alcon Surgical, USA	11600.00	98	98
72	Long Peripheral Lines, 1 FR, 2 FR, 3FR	M/s Cardiac Care	VYGON CORP	6900.00	20	0
73	LP Needle All Sizes	M/s Ess & Ess Enterprises	Spinocan (B.Braun), Malaysia/ Japan	105.00	11730	11730
74	Medifilter, Bacterial / Viral Filter	M/s Cardiac Care	HSINER, TAIWAN	136.00	3421	3421
75	Microburette	M/s Ess & Ess Enterprises	Unison, China	112.00	48875	48875
76	Microsponge, PVA Spears	M/s Mubarak Vision	Eye-Tec, Network Medical, UK	34.00	489	489
77	Monofilament Propylene No. 1 45mm 3/8 reverse cutting needle 90cm length	M/s Sameed Enterprises	SMI Belgium	109.17	2463	2463
78	24mm 3/8 reverse cutting needle	M/s Sameed Enterprises	SMI Belgium	132.25	4809	4809
79	24mm 3/8 reverse cutting needle	M/s Sameed Enterprises	SMI Belgium	149.00	1173	1173
	Monolnanten rropyrene No. 4/0	* 	0			
80	19mm 3/8 reverse cutting needle	M/s Sameed Enterprises	SMI Belgium	135.33	4809	4809
81	40mm taper point, 1/2 round body peodle 75,00cm longth Monofilament Propylene No. 2/0	_	SMI Belgium	111.92	7038	4800
82	30mm taper point, 1/2 round body Monofilament Propylene No. 2/0	M/s Sameed Enterprises	SMI Belgium	133.92	4809	4809
83	75mm straight cutting needle 75-	M/s Sameed Enterprises	SMI Belgium Sharpoint, Surgical	115.92	13685	13685
84	MVR Blade 23G	M/s Mubarak Vision	specialist, USA	900.00	20	20
85	Nelton Catheter NO.28	M/s 3N Lifemed	Medicare, China	12.49	39100	39100
86	Neonatal Chest Tube 6, 8Fr, (Easy Drain)	M/s Cardiac Care	VYGON CORP FRANCE	2500.00	15	15
87	NG Tube/Feeding Tube All Sizes	M/s 3N Lifemed	Medicare, China	16.90	43988	43988
88	Paste for EEG 400gm	M/s Wasiq Enterprises	Elifex, Japan	7980.00	39	39
89	Phaco Knife 15 degree, clear cut	M/s Ali Gohar & Company	Alcon Surgical, USA	500.00	39	39
90	Poly sling Adult	M/s 3N Lifemed	Blue Bird, Pakmade	178.00	1955	1955
91	Polygalactin Sterile, Surgicryl 910 Polyglactin, size 1 with 40mm taper point 1/2 circle round Polygalactin Sterile, Surgicryl 910	M/s Sameed Enterprises	SMI Belgium	172.75	24633	20900
92	Polygalactin Sterile, Surgicry 910 Polyglactin, size 2/0 with 30mm taper point 1/2 circle round Polygalactin Sterne; coated vicry	M/s Sameed Enterprises	SMI Belgium	156.50	10557	10557
93	plus antibacterial (Polyglactin 910) violet 3/0, 26mm, SH, 1/2	M/s Muller & Phipps	Vicryl J & J	129.17	2463	2448

T.E No.	Item name	Item/ Firms	Brand/ Manufacturer	Rate/Unit	Total Qty with cushion	Total Purchase
94	Polygalactin Sterile, coated vicryl plus antibacterial (Polyglactin 910) violet 4/0, 22mm, SH, 1/2	M/s Muller & Phipps	Vicryl J & J	121.01	5279	5256
96	Polythene Gloves	M/s Omer Health Care	Topfit, china	31.00	14663	10000
97	Puristeril , 5 kg	M/s Fresenius Medical Care	Fresenius Medical Care	9700.00	20	0
98	Radevic Bottle with Drain No.12,14,16 &18	M/s Ess & Ess Enterprises	Kawa, China	258.00	1466	50
99	Silicon Band, 2.5mm	M/s Mubarak Vision	MicroVision / USA Eye Technology, UK	1150.00	96	50
100	Silicon Oil, 1000	M/s Mubarak Vision	Rs Oil 1000 Cst, Alchimia, Italy	4500.00	20	20
101	Silicon Oil	M/s Mubarak Vision	Rs-Oil 5000 Cst, Alchimia, Italy	4500.00	20	40
102	Silicon Seleve	M/s Mubarak Vision	Microvision, USA Tye Technolgy, UK	750.00	98	50
103	Silicon Tyre No. 277	M/s Mubarak Vision	Microvision, USA Tye Technolgy, UK	1850.00	29	29
104	Skin Traction Non Adhesive (Adult)	M/s Qadri Healthco	SACO ,PAKISTA	125.00	978	978
105	Sodium Hydro Cloride for HDL, 5 liter	M/s 3N Lifemed	3N Lifemed, Pakmade	800.00	782	400
106	Subclavian Catheter, Double Lumen with guide wire (Adult) For Haemodialysis	M/s Iqbal & Company	Arrow International, USA	2900.00	978	200
107	Surgical Gloves Latex, Sterilized No.8	M/s Ess & Ess Enterprises	New comfeel Plus, Malaysia	36.85	586500	586500
108	Surgical Paper Tape 1"	M/s Ess & Ess Enterprises	Nitrea Plus (Nitto Denko), Japan	39.17	140760	140760
109	Stinmen Pin with Stirup all sizes	M/s Ali Medical Store	Local, Pakistan	178.00	489	489
110	Surgicell Oxidized Regenerated Cellulose, absorbable haemostat	M/s Muller & Phipps	Surgical J & J	1901.35	2815	2796
111	Three way stopcock with tubing	M/s Ess & Ess Enterprises	Kawa, China	33.48	4888	4888
112	Three way stopcock without tubing	M/s Ess & Ess Enterprises	Kawa, China	26.52	3910	3910
113	Tracheostomy Tube with Cuff All sizes	M/s 3N Lifemed	Portex, Smith Medical, UK	1780.00	293	293
114	Under Water Seal Drainage Bottle Single Chamber	M/s Cardiac Care	PASHCO, TAIWAN	790.00	489	489
115	Urine Bag Collecter Sterile Infant	M/s 3N Lifemed	Medicare, China	9.00	978	978
116	Urine Bag Sterile Adult	M/s Noble Pak Traders	AMD, China	21.79	68425	68425
117	Urine Bag Sterile with accurate graduation Adult 2000ml	M/s Wasiq Enterprises	Urocare, China	68.00	587	587
118	Vision Blue 1ml Vial	M/s Mubarak Vision	Sipic Blue, Sipic Int'l USA	250.00	59	59
119	Wellban Cotton 4"	M/s Wasiq Enterprises	Welban, Local	145.00	546	546
119	Wellban Cotton 6"	M/s Wasiq Enterprises	Welban, Local	165.00	920	920
120	Zinc Oxide Adhesive Plaster 10cm x 5M (Plastic Spool)	M/s Arsons	Zinco, Arsons Pharmaceuticals	199.00	4888	4888

Name of Hospital	JINNAH HOSPITAL, LAHORE
Name of MS	DR. SHAFQAT ALI

		list of medicine Store-A		
Sr. #	Name of Drugs	Quantity as on 26.03.2016	unit cost	Total cost
1	Inj.Ciprofloxacin 200mg/100ml	51358	25.6	1,314,765
2	Inj.Cephradine 500mg (DTL)	12046	20.99	252,846
3	Inj.Augmentin 1.2 gm	138	84	11,592
4	Inf Levofloxacin 500mg	2815	27	76,005
5	Inj.Sulzone 1G	15933	33.39	532,003
6	Inj.Ceftriaxone 1G (DTL)	44494	25.75	1,145,721
7	Inj. Vancomucin 1G (DTL)	1515	337	510,555
8	Inj.Gentamycin			-
9	Inj.Tanzobactum 4.5	6774	375	2,540,250
10	Inj.B.Pencilline 10Lac	6796	13.5	91,746
	Inj.Vancomycin 500mg (DTL)	16210	157	2,544,970
	Inj. Moxifloxacin (DTL)	2157	140	301,980
	Inj.Linzolid (DTL)	239	389	92,971
	Inj.Amikacin (DTL)	5431	34	184,654
	Inj.Metronidazole	408300	25.75	10,513,725
	Inj.Acyclovir (DTL)	3060		-
	Inf.Paracetamol	8682	50	434,100
18		13693	17.8	243,735
-	Inj.Tramadol	27089	6.99	189,352
-	Inj.Metoprolol	1280	29	37,120
	Inj Dobutamine 250mg	7960	74	589,040
22	Inj.Transamin	16039	11.7	187,656
	Inj.Dopamine 40mg/ml	6920	33	228,360
24	Inj.Strepotkinase 1.5 MIU	575	2840	1,633,000
-	Inj.Amidarone N.S		73.6	-
26	Inj.Isosorbide Dinitrate 10ml	2423	95	230,185
27	Inj.Norepinephrine 2 mg/ml (DTL)	350	148	51,800
	Inj.Frusemide 20mg2ml (DTL)	740	050.05	-
	Inj.Ultravist 370mg 50ml	718	858.25	616,224
30		2710	182.75	495,253
	Inj.Magnavist	930	1022	950,460
	Inj.Sandostatin 0.1 ml Inj Naloxone	12466	211	2,630,326
		10110 7076	120 275	1,213,200
	Inj.Clexane 40mg NS	7617	273	1,945,900
	Inj.Heparin BES Solution	23	322	2,208,930 7,406
	Inj.Aminovel 5% 500ml	4880	281	1,371,280
	Inj.Dextrose Water 10% 1000ml	6180	40	247,200
	Inj Dextrose Water 5% 1000ml	477	32	15.264
	Inf Gelofusin 500ml (DTL)	4996	253	1,263,988
	Inj Hepamerz 5mg/10ml	820	125.2	1,263,988
	Inf.Ringer Lactate1000ml	23023	31	713,713
	Inj Mannitol 500ml	7680	80	614,400
	Inf.Normal Saline 9% 1000ml	22108	35	773,780
	Inj.Peads Solution 500m	4940	27.75	137,085
	Inj.Frusemide 20mg/2ml (DTL)	31100	21.15	82,415
	Insulin Regular 10ml	10463	173	1,810,099
	Insulin NPH10ml	9763	173	1,688,999
-	Isoflurane 100ml	2363	1460	3,449,980
	Inj.Neo-Pyrolate 1 ml (DTL)	2380	59.38	141,324
-	Inj.Ketamine	3350	17	56,950
	Inj.Frezofol (Propofol)	10133	220	2,229,260
	Inj.Bupivicain SP (DTL)	6320	220	2,223,200
	Inj. Lignocain 2% 10ml	0020	8.4	-
-04	ing. Lignocani 270 TUTII		0.4	-

Sr. #	Name of Drugs	Quantity as on 26.03.2016	unit cost	Total cost
55	Inj.Drotaverine 40 mg	14400	5	72,000
	Inj.Ranatidine 50mg/2ml	12464	3	37,392
57	Inj.Omeprazole Sodium 40mg	72500	27	1,957,500
58	Inj.Metocolpramide (DTL)	40100	3	120,300
	Inj.Ondensteron	4841	248	1,200,568
	Inj.Phenytoin Sodium 250mg/5ml			371,105
60	(DTL)	3227	115	
	Inj.Suxamethonium Chloride 100mg			113,750
61	(DTL)	4550	25	
62	Inj.Hydrocortisone (DTL)	40658	96	3,903,168
	Inj.Terlipressin Acetate 1mg	5120	511	2,616,320
64	Anti-Snake Venom	589	1275	750,975
	Activated Charcoal 25 gm(in			-
65	emergency)	3060		
	Inj.ARV	2594	458	1,188,052
	Inj.Dexamethasone		3.15	-
68	Inj.Epirex 4000IU	20	315	6,300
69	Inj.Tramsamine	16039	11.7	187,656
	Inj.KCL	13190	5.5	72,545
71	Inj.Sodium bicarbonate	10580	11	116,380
	Inj.Aminovil	4880	281	1,371,280
	Inj.Tatnustoxide	3980	29.87	118,883
	Inj.Diazepam	22438	7.4	166,041
	Inj.Epigram	3227	11	35,497
	Inj.Midazola		35	-
77	j	6470		-
	Inj.Dimenhydranite	40850	2.76	112,746
79	Inj 25% D/Water	2790	58	161,820
	Inj.Impemanu	7600	500	3,800,000
81	InjMeropanum	7617	355	2,704,035

		list of medicine Store-B		
Sr. #	Name of Drugs	Quantity as on 26.03.2016	unit cost	Total cost
1	Tab. Co-amoxiclave 625 mg	44928	9.46	425,019
2	Tab Prednisolone 5mg	49750	1.187	59,053
3	Tab, Acetylsalicylic Acid 75 mg /	64024	8.52	545,484
_	Ascard			
4	Tab Clarithromycin 500mg	39650	14.98	593,957
5	Tab Diclofenac Sodium 50mg	28045	0.43	12,059
6	Tab Dinoprostone 3mg	686	256	175,616
7	(Vaginal Tab) (Gladin E2)			-
8	Tab Lisinopril 5mg	20090	1.9	38,171
9	Tab Tab. Metronidazole 400 mg	25130	0.83	20,858
10	Tab Metformin 500mg	58990	1.21	71,378
11	Tab.De Suger (Glibenclamide 5 mg)	97040	0.65	63,076
12	Tab. Misoprostol 200mcg	21920	6	131,520
	Tab Montelukast Sodium 10mg			28,181
13	(DTL)	7416	3.8	
14	Tab Propranolol 10mg	40050	0.4	16,020
15	Tab. Paracetamol 500mg	127137	45	5,721,165
16	Tab.Levofloxacin 500mg	37790	3.9	147,381
17	Tab Ibuprofen 400 mg	780	1.19	928
18	Tab. Ciprofloxacin 500mg	79706	3.15	251,074
19	Tab. Amlodipine 5 mg	830	0.98	813
20	Tab. Myrin-P	13000	5.387	70,031
21	Tab.Myrin –P Fort	34166	7.502	256,313
22				-

Sr. #	Name of Drugs	Quantity as on 26.03.2016	unit cost	Total cost
	Tab. Asprin 300 mg	32480	0.66	21,437
24	Tab Carbamazepine 200mg	11000	1.9	20,900
	Tab.Losartan Potassium 50 mg	2300	4.5	10,350
26	Tab. Divalproex Sodium 500mg	5330	4.21	22,439
20	Sup. Paracetamol	0000		70,521
27	120mg/5ml	6411	11	70,521
28	L-Ornithine L-Aspartate	0411		-
29	+Nicotinamide+ Riboflavin-			
	Phosphate Sodium120ml,			88,457
30	(Levijon)	1181	74.9	00,101
31	Syp Metronidazole 60ml	1779		-
	Cap Omeprazole 20 mg	149759	0.85	127,295
	Cap.Transamin 500mgp	3480	7.6	26,448
	Sliver Sulfadiazine Cream 1% w/w,	0.00		829,088
34	50 gm	15944	52	020,000
• •	Lignocain Hydrochloride Gel 2%w/v,			192,061
35	15 gm	16557	11.6	152,001
	Polymycin Sulphate+ Bacitracin Zinc			75,689
	Petrolatum base (Polyfax Skin			10,000
36	Ointment)	2059	36.76	
	Polymycin Sulphate+ Bacitracin Zinc			9,724
	Petrolatum base (Polyfax Eye			0,724
37	Ointment)	572	17	
	Betamethasone Cream	4500	18	81,000
	Fucidic Acid 2% Cream	4947	55	272,085
	Xylometazoline 0.1%, 20 ml	639	25.5	16,295
	(Nasal Spray)		20.0	-
	Timolol Maleate 0.5 % E/D			-
	Tobramycin	388		-
	Tobramycin + Dexamethasone	886		
	Ciprofloxacin 0.5% E/D	65		
	Nystatin Oral Drops, ml 30 ml	3720	37.3	138,756
	Tobramycin	0120	23	100,700
	Tobramycin + Dexamethasone		28	-
	Bactigrass 15 x 20cm	4393	26	- 114,218
	Cotton Roll 500 g	4099	145	,
		3889	143	594,355 73,891
	Creap Bandage 10 cm x 6 M		19	,
	Creap Bandage 6.5 cm x 6 M	19278 38802	67.5	240,975
	Gypsona 15x2.7 m		67.5 170	2,619,135
	Opsite 15cmx 28cm	4258 25454	34.2	723,860
	Crape Bandage			870,527
00	Absorbent Guaze Roll (BPC)	38514	11	423,654
57	Ipratropium Bromide(Inhalation	6192	62	383,904
57	Solution) 20ml	0192	02	
	Dianagable Inferier Cat	200504	10.15	-
59	Disposable Infusion Set	209584	12.15	2,546,446
60	Povidone – Iodine Cleansing Solution	4700	200	987,734
60	(Pyodine Surgical Scrub)	4726	209	
	Pyodine Solution	8064	164	-
02	Sodium Biphosphate+ Sodium	0004	104	1,322,496
62		2204	4170	14,118,048
	Phosphate (Kleen Enema)		4172 9	100 575
	D/ Syringe 1CC, 5CC, 10CC IV Cannula 18G, 20G, 22G, 24G	211/0	9	190,575
	CVP Line Triple Lumine	744	2190	- 1.629,360
	Double Lumine Catheter	350	2190	1,029,360
	Microburret	16495	2030	1,011,000
	Syp Calamox	5000	43	215,000
	Kleen Aneema	11984	93	1,114,512
10		11904	33	1,114,012

Sr. # Na	me of Drugs	Quantity as on 26.03.2016	unit cost	Total cost
71 D/ S	Syringe 5CC,	1581150	4.25	6,719,888
	Syringe 10CC,	175720	6.4	1,124,608
73 D/ S	Syringe 20CC,	15000	15.1	226,500
74 D/ S	Syringe 60CC,	10018	44	440,792
75 Pre	ednisolone Eye Drops	562	35	19,670
76 Su	yp.Ammonium Chlorride	9988	13.74	137,235
77 IV	Cannula 18G	41483	28.82	1,195,540
78 IV	Cannula 20G,	55705	28.82	1,605,418
79 IV	Cannula 22G,	73445	28.82	2,116,685
80 IV	Cannula 24G	52965	54.45	2,883,944

	Name of Hospital	JINNAH HOSPITAL, LAHORE		
	Name of MS	DR. SHAFQAT ALI		
		List of Surgical		
Sr. #	Name of Drugs	Quantity as on 26.03.2016	unit cost	Total cost
1	X-Ray Film Dental	9	7300	65,700
2		9	14175	127,575
3	X-Ray Film 10X12	3400	34635	117,759,000
4		300	6825	2,047,500
5	X-Ray Film 14X14 X-Ray Film 14X17	18200	7510	136,682,000
6		14500	8975	130,137,500
7 8		45 7	19493 19493	877,185 136,451
9	X-Ray Fixer Powder	132	1100	145,200
10	X-Ray Developer Powder	132	1100	145,200
21	Endotracheal tube size 2.5	100	53	5,300
22	Endotracheal tube size 3.0	5100	53	270,300
	Endotracheal tube size 3.5			8,745
23	Endotracheal tube size 3.5	165	53	10,335
24		195	53	
25	Endotracheal tube size 4.5	200	53	10,600
26	Endotracheal tube size 5.0	97	53	5,141
27	Endotracheal tube size 5.5	214	53	11,342
28	Endotracheal tube size 6.0	75	53	3,975
29	Endotracheal tube size 6.5	260	53	13,780
30	Endotracheal tube size 7.0	710	53	37,630
31	Endotracheal tube size 7.5	855	53	45,315
32	Endotracheal tube size 8.0			-
	Foleys Catheter # 8	20	300	6,000
	Foleys Catheter # 10			51,000
33	· · · · ·	170	300	60,000
34	Foleys Catheter # 12	200	300	
35	Foleys Catheter # 14	140	300	42,000
36	Foleys Catheter # 16		300	-
37	LP. Spinal Needle No 18	4580	73	334,340
38	LP. Spinal Needle No 20	200	73	14,600
39	LP. Spinal Needle No 22	285	73	20,805
40	LP. Spinal Needle No 23	130	73	9,490
41	LP. Spinal Needle No 24	294	73	21,462
42	LP. Spinal Needle No 25	415	73	30,295
43	Microburette	+10		-
44	Ethilon 10/0	408	401	163,608
	Bon Wax	400		
45	Hydrogen Peroxide			-
46		506		-
47	Liquid Paraffin		125	-
48	Formaline			-
49	Soda Line	54	2400	129,600
50	Spirit	1784 Liter	110	#VALUE!
51	Cidex	15	1325	19,875
52	Sugar Strips	2211		-
53	Ultrasound Gell	180 Liter	330	#VALUE!
54	Hand Wash	22	389	8,558
J4		22	309	0,000

Sr. # Name of Drugs	Quantity as on 26.03.2016	unit cost	Total cost
1 X-Ray Film Dental	9	7300	65,700
			34,800
55 ECG Roll 50mm + Z fold +V-20	725	48	04,000
56 N.G Tubes 12.0			-
57 N.G Tubes 14.0	330		-
58 N.G Tubes 16.0			-
59 Nelton Catheter No.8,			-
60 Nelton Catheter No.10	900		-
61 Nelton Catheter No.20			-
62 Nelton Catheter No.24			-
63 Urine Bag Infant			-
64 Urine Bag Adult			-
65 Examination Gloves	316		-
66 Black Silk 1	010		-
67 Black Silk 2/0 RB			-
68 Black Silk 2/0 S.Cutting	2186	84.42	184,542
69 Black Silk 3/0 RB	2100	04.42	
70 Black Silk 4/0 RB			_
			-
71 Black Silk 4/0 S.Cutting			-
72 Catgut No 2 RB			-
73 Virgin Silk S/O spatulated			-
74 Proline 1/0 RB	3900	233.33	909,987
75 Proline 2/0 RB	3300	221	729,300
76 Proline 2/0 S.cutting	6900	225	1,552,500
77 Proline 3/0 RB	2160	225.16	486,346
78 Proline 3/0 S.cutting			-
79 Proline 4/0 RB	2400	213	511,200
80 Proline 4/0 Cutting	2100	212.5	446,250
81 Proline 5/0 RB			-
82 Proline 5/0 Cutting			-
83 Proline 6/0 RB	852	342.42	291,742
84 Proline 6/0 Cutting			-
85 Proline 7/0 RB			-
86 Vicryl No 1 RB	10675	175	1,868,125
87 Vicryl No 2/0 RB	4500	165	742,500
88 Vicryl No 3/0 RB	4500	129	580,500
89 Vicryl No 4/0 RB	2124	175	371,700
90 S. Gloves No.8.0	3100	20.9	64,790
91 Under water Seal Bollte	115	164	18,860
92 Ploysling (Adult)	800	125	100,000
93 Ploysling (Small)	122	125	15,250
94 Skin Traction (Adult)			-
95 Skin Traction (Small)			-
96 Radovaic Drain No.10			-
97 Radovaic Drain No.12	90	150	13,500
98 Radovaic Drain No.14	50	150	7,500
99 Radovaic Drain No.16	30	150	4,500
100 Embotectomy Tube No.3			-

Sr. # Name of Drugs	Quantity as on 26.03.2016	unit cost	Total cost
1 X-Ray Film Dental	9	7300	65,700
101 Embotectomy Tube No.4			-
102 Embotectomy Tube No.5	15	2988	44,820
103 Embotectomy Tube No.6	15	2988	44,820
104 B.T Set	10	2300	-
105 Mucose Extractor	1270		-
106 Biopsy Jar Small	1270		-
107 Biopsy Jar Medium	274	28	7,672
108 Biopsy Jar Large	237	52	12,324
109 Disp. Surgeon Caps	2400	2.4	5,760
110 Lancet for Pricker	2400	1.2	28,560
111 ECG Roll Z fold	23000	1.2	-
			-
112 ECG Roll Cardio case 2000			
113 Surgical Blade 10	2900	12.5	36,250
114 Surgical Blade 11	500	12.5	6,250
115 Surgical Blade 15	9300	12.5	116,250
116 Surgical Blade 23	15200	12.5	190,000
117 Chest Tube No.28	161	138	22,218
118 Chest Tube No.32	151	138	20,838
119 C.V.P line Single Lumen			-
120 C.V.P line Double Lumen			-
C.V.P line Triple Lumen			-
121 (Peads)			
			-
122 C.V.P line Triple Lumen (Adult)			
123 Polythene Gloves	2367	25.5	60,359
124 Baby Cord Clamp	7000	1.9	13,300
125 EEG Roll			-
126 CTG Paper Roll V-20			-
127 CTG Roll MT-516			-
128 Nichiban 1"	8760	14.5	127,020
129 Nichiban 2"	648	29	18,792
130 Nichiban 3"	520	43	22,360
131 Colostomy Bags No.57 mm	130	425	55,250
132 Colostomy Bags No.70 mm	167	145	24,215
133 Three Way Stoper	5750	17.48	100,510
134 Clamp for Colostomy bags			-
135 HME Filter	2870	270	774,900
136 S. Gloves No.6.5	2600	20.9	54,340
137 S. Gloves No.7.0	900	20.9	18,810
138 S. Gloves No.7.5	1100	20.9	22,990
139 Blood Culture Bottle			-
140 Nebulizer Kit (Adult)	517	110	56,870
141 Nebulizer Kit (Peads)	60	110	6,600
142 Spongeston	450	166	74,700
143 Double Lumen catheter			-
144 Face Mask	100	2.1	210
145 Autoclave Tap	100		-

Sr. #	Name of Drugs	Quantity as on 26.03.2016	unit cost	Total cost
1	X-Ray Film Dental	9	7300	65,700
146	Sterilization Strips			-
147	ECG Paper 60x75x20			-
148	Breathing Circuit (Adult)	68	345	23,460
149	Breathing Circuit (Small)	120	390	46,800
150	Cardioplegia Delivery			-
151	H-Cervical Collar (Large)	108		-
152	H-Cervical Collar (Medium)	108		-
153	Ultra Pro Mesh (Absorbable)			-
154	Ultra Pro Mesh 6x11	37	5170	191,290
155	Ultra Pro Mesh15x15			-
156	Ultra Pro Mesh 30x30			-
157	TPM Lead	45	3550	159,750
	Blood Culture Bottle	280	14	3,920

DETAIL OF SURGICAL STOCK PRESENT ON 26.03.2016 DHQ HOSPITAL FAISALABAD

Sr.	DHQ HOSPIT?	Award Rate		
Sr. No.	Name of Item	2015-16	Quantity	Total Amount
1	Solution povidone	151.76	4998	758496.48
2	Surgical Scrub Povidone Iodine	296.3	1880	557044
3	Kleen Enema	41.12	8357	343639.84
4	Instrument Disinfectant Solution Pack	3490	92	321080
5	Polythene Gloves	24.99	19000	474810
6	Polyglycolic Acid No. 02	2250	1089	2450250
7	Ch. Catgut No. 01	1699	3000	5097000
8	Ch. Catgut No. 02	982	750	736500
9	Polyglycolic Acid No. 01	1750	3419	5983250
10	Polyglycolic Acid No. 3/0	1400	495	693000
11	Polyglycolic Acid No. 5/0	1400	49	68600
12	Polypropylene No. 2/0 CRB	1585	199	315415
13	Polypropylene No. 01	1315	150	197250
14	Polypropylene No. 4/0	1585	149	236165
15	Urine Drainage Bag	29	28900	838100
16	Ligation Clips	435	1890	822150
17	N.G Tube No. 16	18	6000	108000
18	N.G Tube No. 18	23	4990	114770
19	Epidural Set	850	110	93500
20	Bandage Plaster of Paris 15Cmx2.7m	64.44	10000	644400
21	Plaster of Paris 10Cmx2.7m	47	10000	470000
22	Spinal Needle No. 25	39.98	3740	149525.2
23	Spinal Needle No. 23	39.98	3740	149525.2
24	Ultrasound Gel	219	270	59130
25	CTG Paper	890	500	445000
26	Chest Electrodes	6.14	5000	30700
27	Vaccum Drain	480	250	120000
28	Cord Clamp	13.45	14000	188300
29	Polypropylene Mesh 15x15cm	1631	250	407750
30	Polypropylene Mesh 6x11cm	924.63	600	554778
31	Paper Tape 1" 5 Yards	261.8	10480	2743664
32	Ch. Catgut No. 2/0	840	1500	1260000
33	Surgical Gloves Sterilized	24.29	106080	2576683.2
34	Cotton Crepe Bandage 10cm x 4.5m	34.77	45400	1578558
35	Soda Lime	2930	50	146500
36	Lumbosacral Belt	248	500	124000
37	CVP Line	1050	140	147000
38	Absorbent Cotton Gauze 100cmx 30m	10.73	8400	90132
39	Cotton Bandage 6.5x 6m	12.45	43872	546206.4
40	Butterfly Needle 24 Size	6.9	4000	27600
41	Disposable syringe 50/60cc	18.99	9600	182304
42	Chest Tube	129	480	61920

43	Absorbent Cotton Wool	143.88	22998	3308952.24
44	Burette	50	6880	344000
45	Black Silk No. 1	540	7200	3888000
46	Blood Tubing Set	179.5	10632	1908444
47	Bi-carb solution	191.79	9121	1749316.59
48	Blood Bag	235	3950	928250
49	Dis-infectent solution for Dialysis	6900	400	2760000
50	Drip Set	11.25	171875	1933593.75
51	Double lumen catheter	3000	1010	3030000
52	Fistula Needle	24.94	17000	423980
53	Folleys cather No. 16	55	9950	547250
54	Folleys cather No. 18	60	2490	149400
55	Glycerine Pure 1 Kg	214.95	600	128970
56	I/V Cannula 20G	27	57400	1549800
57	I/V Cannula 22G	33	24000	792000
58	I/V Cannula 24G	54	3000	162000
59	Methylated Spirit	50	600	30000
60	Polyglycolic Acid 2/0	1500	50	75000
61	Polypropyline No. 2/0 S.N	1500	51	76500
62	Polypropyline No. 3/0	1450	299	433550
63	Surgical Cotton Gauze	10.73	183600	1970028
64	Surgical Blade No.15	15.55	1085	16871.75
65	Surgical Blade No.20	14	18600	260400
66	Surgical Blade No.22	14	9970	139580
67	Surgical Blade No. 24	14	11485	160790
		•	Total Amount Rs:	36221648.56

DETAIL OF MEDICINE STOCK PRESENT IN CENTRAL PHARMA DHQ HOSPITAL FAISALABAD ON 26.03.2016

Sr.	DHQ HOSPITAL FAISAL			Ι
No.	Name of Drug	Quantity	Rate / Unit	Total Amount
1	Inj.Propofol 200mg/Amp	1925	201	386925
2	Inj. NeoStigmine 2.5mg/ml	4000	9.5	38000
3	Inj. Metoclopramide 5mg/ml	73975	2.7	199732.5
4	Tab.Ciprofloxacine 500mg	564180	3.33	1878719.4
5	Inj.piperacillin +Tazobactum4.5gm	4829	209	1009261
6	Inj.Imipenem +cilastatin	2496	484	1208064
7	Inhaler Salmetrol + Fluticasone Propionate	1425	606.11	863706.75
8	Tab.Atenolo 50 mg	61560	2.7	166212
9	Inj. Dobutamine 250 mg	9575	85	813875
10	Inj. Dexamethasone 4mg/ml	27475	3.56	97811
11	Inj. Hydrocartisone 250mg	41440	84.44	3499193.6
12	Susp. Dry Zinc Sulphate	4197	24	100728
13	Inj. Acyclovir 250mg	2485	289	718165
14	O.R.S. Sachet	10000	5.24	52400
15	Tab. Resperidone 2mg	121060	2.4	290544
16	Cap. Fluoxetin 20mg	30000	3.9	117000
17	Tab. Perindopril + Amlodipine	3600	22.49	80964
18	Tab. Spironolactone 100mg	10500	7.353	77206.5
19	Tab. Pyridoxin 50mg	18050	1.6	28880
20	Inj. Tetanus Toxide 0.5 ml	16100	34.97	563017
21	Inf. Plabolyte 100ml	20000	42.87	857400
22	Inj. Tig	940	1497	1407180
	Inj. A.S.V. 10ml	120	1500	180000
24	Inj. Omeprazole 40mg/vial	50000	24.77	1238500
	Inj. Cefo-taxime 1g	29990	33.97	1018760.3
26	Inj. Ceftazidime 1g	2100	58.97	123837
27	Inf. M.T.Z. 500mg/100ml	122050	19.77	2412928.5
28	Inf. Ciprofloxacin 500mg/100ml	20400	22.47	458388
29	Inj. Iso-sorbid Di nitrate 10ml	8980	101.97	915690.6
30	Tab. Aspirin 75mg	439000	0.458	201062
31	Betamethasone skin cream	7000	21.85	152950
32	Inj. Insulin Plain	160	218	34880
33	Inj. Insulin 70/30	4194	218	914292
34	Inj. Bupivacaine Spinal	3000	27	81000
35	Tab. Clopidogrel 75mg	204000	1.84	375360
36	Tab. Glimepiride 02 mg	141000	1.58	222780
37	Tab. Procyclidine 5mg	185400	0.84	155736
38	Tab. Calcium + Vit B	48000	2.33	111840
39	Tab. Cetrizine 10mg	199950	1.4	279930
40	Syp. Lactulose	13400	100	1340000
41	Polymyxin B sulphate ointment	8400	38.76	325584
42	Inheler Salbutamol	1497	144.5	216316.5
43	Inj. Terlipressin 1 mg	5102	469	2392838
44	Inj. Anti Rabbies Vacine	1900	444.94	845386
45	Eye Drops Tobramycine + Dexamethasone	6235	27.95	174268.25
46	Inj. Suxamethonium 100mg/Amp	1975	24	47400
47	Inj. Diclofeanac Sodium 75mg/3ml	48600	2.95	143370
48	Inj. Vancomycine 1g	3920	358	1403360
49	Inj. Acyclovir 500mg	2500	675	1687500
5 0	Tab. Divalproex sodium 500 mg	110000	7.46	820600
50	rao. Divarpioex souraini 500 mg	110000	/.+0	020000

51	Tab. Deferasirox 400mg	15018	133.33	2002349.94
52	Tab. Terazosin 1mg	29950	6.48	194076
53	Tab. Amlodipine 5mg	106400	0.69	73416
54	Tab. Losartan Potassium 50mg	88900	1.27	112903
55	Susp. Ibuprofen 100mg/5ml	6397	40.8	260997.6
56	Eye Drops Ciprofloxacin	2985	23.5	70147.5
57	Sevoflurane Liquid 250ml	319	7740	2469060
58	Inj. Octreotide 0.1	13105	268	3512140
59	Inj. Deferoxamine 500mg	3020	184.37	556797.4
60	Tab. Carbamezapine 200mg	170000	2.64	448800
61	Tab. Deferasirox (Asunra) 100mg	8952	31.45	281540.4
62	Inj. 25% Dextrose water	9980	6.5	64870
63	Inj. 5% D/Water 1000 ML	22997	32	735904
64	Inj. 10% D/Water 1000 ML	8857	41	363137
65	Inf. Ringer Lactate 100ml	95295	34	3240030
66	Inf. Mannitol 500ml 20%	7997	71	567787
67	Inf. Normal Saline 1000ML	37740	32	1207680
<u>68</u>	Tab. Escitalopram 10mg	170000	1.71	290700
<u>69</u>	Tab. Montelukast 10mg	85000	2.15	182750
70	Susp. Sucralfate 1g/5ml 60ml	7000	34	238000
71	Tab. Misoprostal + Diclofeanac 200mg +50mg	2800	4.65	13020
72	Inj. Streptokonaise 1.5m I.U	430	3550	1526500
73	Syp. A.C (Cough) 120ml	20900	18.89	394801
74	Tab. Metronidazole + Diloxanide Furoate	122050	3.98	485759
75	Tab. Myrin P-Forte	172800	8.48	1465344
76	Tab. Myrin	272000	6.6	1795200
77	Inj. Ranitidine 50mg /2ml	99975	3.37	336915.75
78	Tab. Mefenemic Acid 500mg	540000	1.09	588600
79	Inj. Drotaverine 40mg	<u>34500</u> 3985	5.62 44.8	193890 178528
80 81	Inj. Dopamine 40mg / ml Inj. Vancomycine 500mg	4490	218	978820
	Tab. Amoxycilline + Clavalanic	4490	210	978820
82	Acid 500+125mg Tab. Frusemide + Amiloride	150000	9.49	1423500
83	400mg +5mg	244200	3.08	752136
84	Tab. Metformin 500mg	10800	1.21	13068
85	Syp. Paracetamol 60ml	8912	23.55	209877.6
86	Inj. Nalbuphine 10mg	80055	22.4	1793232
87	Inf. Paracetamol 1g/100ml	3500	47.99	167965
88	Inj. Amoxycilline + Clavalanic Acid 1.2gm	33792	83.99	2838190.08
89	Inj. Cef-Triaxone 1g	98434	28.5	2805369
90	Inf. Modified Fluid Gelatin 500ml	2200	257	565400
91	Syp. Vitamin B Complex	5000	14.85	74250
92	Clotrimazole Skin Cream 1%	1995	14.35	28628.25
93	Lignocaine Gel 2% 15g	31960	13.25	423470
94	Permitherine Cream	4300	29.9	128570
95	Tab. Glyceryl Trinitrate 2.6mg	290000	1.46	423400
96	Tab. Artemether + Lumefantrine80mg +240mg	4988	12.33	61502.04
97	Cap. Fluoxetin 150mg	12500	9.5	118750
98	Inj. Ketamine 50mg/ml	3000	21	63000
99	Tab. Drotaverine 40mg	60000	1.45	87000
	Inj. Ephedrine Sulphate 50mg /ml	1950	14.85	28957.5
101	Tab. Alprazolam 0.5mg	294000	1.5	441000

102	Tab. Simvastatin 20mg	190400	1.2	228480
103	Tab. Diclofenac Sodium 50mg	806690	0.35	282341.5
104	Cap. Omeprazole 20mg	869950	0.98	852551
105	Tab. Metronidazole + Diloxanide Furoate	41250	3.98	164175
106	Inj. Oxytocin 5 I.U	61200	5.7	348840
107	Strips for Glucometer	2000	7.48	14960
108	Inj. Heparin 5000 I.U	20910	295	6168450
1091	Inj. Cefoperazone + Sulbactam 1g+1g	1900	68.9	130910
110	Inf. Aminoacid 8% 500ml	960	471.75	452880
111	Inj. Frusemide 10mg	28600	2.63	75218
112	Inf. Moxifloxacin 400mg	519	119	61761
113	Inj. Erythropoeitin	16800	141	2368800
114	Atracurium Besylate	5475	85	465375
115	Inj. Atropine	15000	1.5	22500
116	Inj. Fluphenazine	475	35	16625
117	Inj. Epival	4975	77.7	386557.5
118	Inj. Iso.Flurane 100 ml	150	1549	232350
119	Inj. Tranexamic Acid	14400	11.94	171936
120	Inj. Plasma Volume Expander	19995	257	5138715
121	Tab. Haloperidol	78000	0.59	46020
122	Tab. KCL	37800	0.86	32508
123	Cap. Fluconazole	10150	9.5	96425
124		9400	75	705000
125	Syp. Metronidazole	3700	16.4	60680
		Total Amount Rs:		